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Topic:­ General Science
1)

Question Stimulus :­

One of the planets has the least density among all the planets. The planet is /
ऺभॎ ꬅऻख़ ॠ मꬅ ऺॕ इऺ एक ꬅऻ कॊ घन埍� ऺबऺॕ कम ऻॖ। इऺ ꬅऻ कॊ नॊम ऻॖ?

Jupiter / ब॑ऻퟑ�ोत

Saturn / षोन

Uranus / यॐरॕनऺ

Neptune / नॕपퟱ�ॐन

Correct Answer :­Saturn / षोन 

2)

Question Stimulus :­

Humans cannot digest grass like the cow, because of the presence of  / इऺकॎ उप៚�𐀆 थोत कॕ चलतॕ‚ मनॏ𐀆 य, गॊय कॎ भॊॠोत
घॊऺ कख़ नऻॎ ॠ पचॊ पॊतॕ ऻ塪� ­  

Chlorophyll in grass / घॊऺ मꬅ 縄 लख़रख़ोफल

Pesticides in grass / घॊऺ मꬅ कॎटनॊषक

Proteins in grass /  घॊऺ मꬅ ꬅख़टॎन

Cellulose in grass / घॊऺ मꬅ ऺॕलॏलख़ऺ

Correct Answer :­Cellulose in grass / घॊऺ मꬅ ऺॕलॏलख़ऺ 

3)

Question Stimulus :­

The yellow part of the yolk in the hen’s egg is / मॏगꬅ कॕ अॠडॕ कॎ जदꬅ मꬅ मग़जॐद पॎलॊ भॊग ऻॖ ­

A single cell / एक एकल कख़ोषकॊ

More than one cell / एक ऺॕ अोधक कख़ोषकॊ

A cell which has undergone division / एक कख़ोषकॊ ोजऺकॊ ोशभॊजन ꬅआ ऻॖ

Not a cell / कख़ोषकॊ नऻॎ ॠ ऻॖ

Correct Answer :­A single cell / एक एकल कख़ोषकॊ 



4)

Question Stimulus :­

The type of soil, best suited for making pots, toys and statues is  / इऺ ꬅकॊर कॎ म॑दॊ, गमलॕ‚ ៚�खलग़नॕ और मॐोत塪�यख़ ॠ कख़
बनॊनॕ कॕ ोलयॕ उपयॏ韐� ऻॖ

Sandy soil / बलॏई म॑दॊ

Loamy soil / दॏमट म॑दॊ

Clayey soil / म॑𐀆 मय म॑दॊ

Top soil / ऊपरॎ म॑दॊ

Correct Answer :­Clayey soil / म॑𐀆 मय म॑दॊ 

5)

Question Stimulus :­

The  distance travelled by a car is measured by / एक कॊर 埉�ॊरॊ तय कॎ गयॎ दॐ रॎ कख़ _______ ऺॕ मॊपॊ जॊतॊ ऻॖ।        

Anemometer / पशनशॕगमॊपॎ

Barometer / शॊयॏदॊबमॊपॎ

Odometer  / पथमॊपॎ

Speedometer / गोतमॊपक

Correct Answer :­Odometer  / पथमॊपॎ 

6)

Question Stimulus :­

An electromagnet is attracted by / एक ोशद्यॏ त­चॏះ�क __________ ऺॕ आकोह塪�त ऻख़तॊ ऻॖ।   

Plastic / ퟀ�ॊ៚�៭�क

Rubber / रबर

Iron / लख़ऻॊ

Wood / लकीॎ

Correct Answer :­Iron / लख़ऻॊ 

7)

Question Stimulus :­

For melting gold & silver, goldsmiths blow the flame with a metallic blow pipe using / ऺख़नॕ और चॊॠदॎ कख़ ोपघलॊनॕ कॕ
ोलए,  ॏऺनॊर, धॊतॏ कॎ एक फॏँ कनॎ कॕ ऺॊथ _________ मꬅ लग़ ोनकॊलतॕ ऻ塪�     

Outermost zone of the flame / 𐀆 शॊलॊ कॕ ऺबऺॕ बॊऻरॎ ퟀॕ�ꬅ



Innermost zone of the flame / 𐀆 शॊलॊ कॕ अॠतरतम ퟀॕ�ꬅ

Yellow zone of the flame / 𐀆 शॊलॊ कॕ पॎलॊ ퟀॕ�ꬅ

Dark zone of the flame / 𐀆 शॊलॊ कॕ गऻरॊ ퟀॕ�ꬅ

Correct Answer :­Outermost zone of the flame / 𐀆 शॊलॊ कॕ ऺबऺॕ बॊऻरॎ ퟀॕ�ꬅ 

8)

Question Stimulus :­

Allowing the field to remain vacant for one full season is called / पॐरॎ एक ऋतॏ तक खॕत कख़ खॊलॎ छख़ीनॕ कॎ ꬅोꬅयॊ
लॊतॎ ऻॖ। 

Crop rotation / फऺल कॊ चꬅॎकरण

Multiple cropping / एकॊोधक फऺलॎकरण

Field fallow / ퟀॕ�ꬅ परतॎ

Monoculture / मख़नख़क⠅चर

Correct Answer :­Field fallow / ퟀॕ�ꬅ परतॎ 

9)

Question Stimulus :­

Nucleus is separated from the cytoplasm by a / कꬅ ꬅक कख़ _________ 埉�ॊरॊ एक कख़ोषकॊꬅퟟ� ऺॕ अलग ोकयॊ जॊतॊ ऻॖ।
                

Cell membrane / कख़ोषकॊ ोझꨂॎ

Endoplasmic reticulum / अ៙�ॡ ꬅदퟟ�यॎ जोलकॊ

Nuclear membrane / कꬅ ꬅक ोझꨂॎ

Cell wall / कख़ोषकॊ ोभोퟎ�

Correct Answer :­Nuclear membrane / कꬅ ꬅक ोझꨂॎ 

10)

Question Stimulus :­

In the side mirror of a scooter, the images of all objects appear / ퟍ�ॐ टर कॕ ऺॊइड ोमरर (ोकनॊरॕ लगॕ दप塪�ण) मꬅ, ऺभॎ
शំ�ॏओॠ कॎ छोश ोदखॊई दॕतॎ ऻॖ।    

Larger than objects themselves / शំ�ॏओॠ कॎ तॏलनॊ मꬅ उनऺॕ बीॎ

Smaller than objects themselves / शំ�ॏओॠ कॎ तॏलनॊ मꬅ उनऺॕ छख़टॎ

Same size as that of  the object / शំ�ॏ कॕ आकॊर कॕ बरॊबर

Inverted and enlarged / उ�ॎ और बुॎ



Correct Answer :­Smaller than objects themselves / शំ�ॏओॠ कॎ तॏलनॊ मꬅ उनऺॕ छख़टॎ 

11)

Question Stimulus :­

The ultimate source of energy for all organisms is / ऺभॎ जॎशख़ ॠ कॕ ोलए ऊजॊ塪� कॊ परम 𐀆 𐀆ख़त ऻॖ

Wind energy / शॊयॏ ऊजॊ塪�

Tidal energy / 𐀆 शॊरॎय ऊजॊ塪�

Solar energy / ऺग़र ऊजॊ塪�

Hydel energy / जल ऊजॊ塪�  

Correct Answer :­Solar energy / ऺग़र ऊजॊ塪� 

12)

Question Stimulus :­

Areas  where animals are protected from any disturbance to them & their habitat is called / शख़  ॏऺरोퟀ�त ퟀॕ�ꬅ, जऻॊँ
जॊनशर ोबनॊ ोकऺॎ बॊधॊ कॕ अपनॕ ꬅॊक॑ोतक ोनशॊऺ 𐀆थॊन मꬅ रऻतॕ ऻ塪�।

Zoo / ोचोीयॊघर

Sanctuary / अퟝ�ॊरេ�

National park / रॊퟷ�塪� ॎय उ埉�ॊन

Biosphere reserve / जॎशमॠडल 埉�रिश塪�

Correct Answer :­Sanctuary / अퟝ�ॊरេ� 

13)

Question Stimulus :­

Identify the scalar quantity / अोदष रॊोष कॎ पऻचॊन करꬅ  । 

Distance / दॐ रॎ

Displacement / ोश𐀆थॊपन

Force / बल

Velocity / शॕग

Correct Answer :­Distance / दॐ रॎ 

14)

Question Stimulus :­

Melamine used for making floor tiles is an example of / मॕलॊमॊइन, ोजऺऺॕ फष塪� कॎ टॊइំ� बनतॎ ऻ塪�, एक
उदॊऻरण ऻॖ___________ कॊ।    



Thermoplastics / थमꬅퟀ�ॊ៚�៭�क

Thermo setting plastic / थमꬅ ऺॕोटॠग ퟀ�ॊ៚�៭�क

PVC / पॎशॎऺॎ

Polythene /  पॗोलथॎन

Correct Answer :­Thermo setting plastic / थमꬅ ऺॕोटॠग ퟀ�ॊ៚�៭�क 

15)

Question Stimulus :­

The zygote would develop into a female child if the sex determining pair of chromosomes is made up of / यॏꨂनज,
एक मोऻलॊ ोषषॏ कॕ ꬅप मꬅ ोशकोऺत ऻख़गॊ, योद ोलॠग गॏण ॐऺꬅ कॊ यॏ𐀆 म ________ ऺॕ ोनधॊ塪�埉�रत ऻख़।

A set of  XX chromosomes / XX गॏण ॐऺꬅख़ ॠ कॊ एक ऺॕट

A set of  YY chromosomes / YY गॏण ॐऺꬅख़ ॠ कॊ एक ऺॕट

A set of  XY chromosomes  / XY गॏण ॐऺꬅख़ ॠ कॊ एक ऺॕट

Both  XX and  YY chromosomes / दख़नख़ ॠ XX और YY गॏण ॐऺꬅ

Correct Answer :­A set of  XX chromosomes / XX गॏण ॐऺꬅख़ ॠ कॊ एक ऺॕट 

16)

Question Stimulus :­

Bacterial diseases are /  जॎशॊणॏज बॎमॊ埉�रयॊॠ ऻ塪� __________।               

Polio & chicken pox / पख़ोलयख़ और ोचकनपॗ埣�

Typhoid & T.B / टॊइफॊइड और टॎबॎ

Ring worm & tape worm  / दॊद और फॎतॊक॑ोम

Dysentery & malaria / पॕोचष श मलॕ埉�रयॊ

Correct Answer :­Typhoid & T.B / टॊइफॊइड और टॎबॎ 

17)

Question Stimulus :­

The SI unit of temperature is / तॊपमॊन कॎ  SI इकॊई ऻॖ: 

Degree Celsius / ोडꬅॎ ऺॕ៚�ំ�यऺ 

Degree Fahrenheit / ोडꬅॎ ूॊरॕनऻॊइट

Kelvin / कॕ៚�៻�न

Fahrenheit / ूॊरॕनऻॊइट



Correct Answer :­Kelvin / कॕ៚�៻�न 

18)

Question Stimulus :­

Metals react with dilute acids to produce a gas that burns with a Pop Sound. The gas is / धॊतॏ, तनॏ अៃ� ल कॕ ऺॊथ
ꬅोतोꬅयॊ करकॕ एक गॖऺ कॊ ोनमॊ塪�ण करतॎ ऻ塪� जख़ "पॗप" कॎ आशॊि कॕ ऺॊथ जलतॎ ऻॖ। यॕ गॖऺ ऻॖ __________   

Hydrogen / ऻॊइड塪� ख़जन

Sulphur dioxide / ऺ៺�र डॊइऑ埣�ॊइड

Carbon dioxide / कॊब塪�न डॊइऑ埣�ॊइड

Nitrogen / नॊइट塪� ख़जन

Correct Answer :­Hydrogen / ऻॊइड塪� ख़जन 

19)

Question Stimulus :­

Which is the best method to prevent soil erosion? / म॑दॊ अपरदन कख़ रख़कनॕ कॎ ऺशꬅ𐀆 च ोशोध कग़न
ऺॎ ऻॖ?

Deforestation / शनख़Ⰲ मॐलन

Afforestation / शनरख़पण

Heavy rainfall / भॊरॎ शहॊ塪�

Waterlogging / जलभरॊश

Correct Answer :­Afforestation / शनरख़पण 

20)

Question Stimulus :­

Sunlight consists of /  ॐऺय塪� कॕ ꬅकॊष मꬅ उप៚�𐀆थत ऻख़तॕ ऻ塪�  

8 colours / 8 रॠग

7 colours / 7 रॠग

5 colours / 5 रॠग

4 colors / 4 रॠग

Correct Answer :­7 colours / 7 रॠग 

21)

Question Stimulus :­

In order to stop corrosion, iron pipes and sheets are coated with Zinc metal. This process is /   ॠऺퟀ�ॊरण रख़कनॕ कॕ ोलए,
लख़ऻॕ कॕ पॊइप और षॎटख़ ॠ पर ोजॠक धॊतॏ कॎ कख़ोटॠग कॎ जॊतॎ ऻॖ, यॕ ꬅोꬅयॊ ________ कऻलॊतॎ ऻॖ। 



Known as electroplating / ोशद्यॏ त लॕपन

A chemical change / एक रॊऺॊयोनक प埉�रशत塪�न

Known as galvanizing / जំ�ॎकरण

Known as  tinning / कलई करनॊ

Correct Answer :­Known as galvanizing / जំ�ॎकरण 

22)

Question Stimulus :­

A processed product of coal used in the extraction of iron is / लख़ऻॕ कॎ ोनकॊऺॎ मꬅ कख़यलॕ कॊ एक  ॠऺऺॊोधत उ埱�ॊद,
______________ इ𐀆 तॕमॊल मꬅ लॊयॊ जॊतॊ ऻॖ।

Wood / लकीॎ

Coal tar / कख़ल तॊर

Coke / कख़क

Charcoal / चॊरकख़ल

Correct Answer :­Coke / कख़क 

23)

Question Stimulus :­

Sweaters & Shawls are made from a synthetic fibre called________. / 埉ॕ�टर और षॗल __________  नॊमक  ॠऺ៚�𐀆 ल𐀆 ट
फॊइबर ऺॕ बनॕ ऻख़तॕ ऻ塪�

Rayon / रॕयॗन

Acrylic / ऐꬅॕोलक

Polyester / पॗोलए៭�र

Nylon / नॊयलॗन

Correct Answer :­Acrylic / ऐꬅॕोलक 

24)

Question Stimulus :­

The ultra sound equipment for investigating many medical problems works at frequencies /  कई ोचोक韯�ॊ ऺम韷�ॊओॠ
कॎ जॊँच कॕ ोलए इំॕ�मॊल ोकयॕ जॊनॕ शॊलॕ अ�塪� ॊऺॊउॠड उपकरण_________ आश॑ोퟎ�यख़ ॠ पर कॊम करतॕ ऻ塪�।   

Loǁeƌ thaŶ ϮϬ HZ / ϮϬ HZ ऺॕ कम

Higheƌ thaŶ ϮϬϬϬϬ HZ / ϮϬϬϬϬ HZ ऺॕ ퟀ�ॊदॊ

BetǁeeŶ ϮϬ to ϮϬϬϬϬ HZ / 20 ऺॕ 2000 HZ कॕ बॎच

At 20000 HZ / 20000 HZ पर 



Correct Answer :­Higheƌ thaŶ ϮϬϬϬϬ HZ / ϮϬϬϬϬ HZ ऺॕ ퟀ�ॊदॊ 

25)

Question Stimulus :­

The principle of working of an electric bell involves  conversion of  / ोशद्यॏ त घॠटॎ कॕ कॊम करनॕ कॕ ोनयम मꬅ
_________  ꬅपॊॠतरण षॊोमल ऻॖ।

Electrical energy into sound energy /  ोशद्यॏ त ऊजॊ塪� कॕ 埜�ोन ऊजॊ塪� मꬅ

Electrical energy to mechanical energy / ोशद्यॏ त ऊजॊ塪� कॕ यॊॠोꬅक ऊजॊ塪� मꬅ

Mechanical energy into sound energy / यॊॠोꬅक ऊजॊ塪� कॕ 埜�ोन ऊजॊ塪� मꬅ

Mechanical energy into electrical energy / यॊॠोꬅक ऊजॊ塪� कॕ ोशद्यॏ त ऊजॊ塪� मꬅ

Correct Answer :­Electrical energy into sound energy /  ोशद्यॏ त ऊजॊ塪� कॕ 埜�ोन ऊजॊ塪� मꬅ 

Topic:­ General Hindi
1)

Question Stimulus :­

‘जॕबकतरॊ’ ोकऺ ꬅकॊर कॊ ऺमॊऺ ऻॖ?

करण त𐀆 पॏꬅह

कम塪� त𐀆 पॏꬅह

ॠऺꬅदॊन त𐀆 पॏꬅह

अपॊदॊन त𐀆 पॏꬅह

Correct Answer :­कम塪� त𐀆 पॏꬅह 

2)

Question Stimulus :­

ोश៱�ॊनोशोध‚ ोचोक𐀆 ऺ ॊ षॊ𐀆 𐀆 आोद मꬅ ꬅयॏ縄 त ोऻⰂ दॎ कऻलॊतॎ ऻॖ

रॊजभॊहॊ

ॠऺचॊरॎ ोऻⰂ दॎ

तकनॎकॎ ोऻⰂ दॎ

शॊोण៚�ퟀ�क ोऻⰂ दॎ

Correct Answer :­तकनॎकॎ ोऻⰂ दॎ 

3)

Question Stimulus :­

‘पॊनॎ­पॊनॎ ऻख़नॊ’ मॏऻॊशरॕ कॊ 埀�ॊ अथ塪� ऻॖ



ल៚�ퟱ�त ऻख़नॊ

पॊनॎ मꬅ भॎग जॊनॊ

षॊॠत ऻख़नॊ

ोनरॊष ऻख़नॊ

Correct Answer :­ल៚�ퟱ�त ऻख़नॊ 

4)

Question Stimulus :­

ोकऺ बꬅशचन ष埀� कॎ शत塪�नॎ ऺऻॎ नऻॎ ॠ ऻॖ ­

नोदयॊँ

लीोकयॊॠ

टख़ोपयॊँ

नॎोतयॊँ

Correct Answer :­लीोकयॊॠ 

5)

Question Stimulus :­

‘कनक’ कॊ अथ塪� ऻॖ­

कॊलॊ

चतॏर

ोकरण

खजॐर

Correct Answer :­खजॐर 

6)

Question Stimulus :­

मग़៚�खक भॊहॊ कॎ मॐलभॐत इकॊई ऻॖ

Ⰲ शोन

शण塪�

ोलोप

ॠऺ៱�ॊ

Correct Answer :­Ⰲ शोन 



7)

Question Stimulus :­

ퟟ�ॠजन, ퟟ�जन, ोशजन इन तॎनख़ ॠ ष埀�ख़ॠ कॕ ꬅमषॡ ऺऻॎ अथ塪� शॊलॎ पॠ៚�韐� कख़ चॏनꬅ

खॊ埉� पदॊथ塪�,  ॏऺनऺॊन, पॠखॊ

खॊ埉� पदॊथ塪�, पॠखॊ,  ॏऺनऺॊन

पॠखॊ, खॊ埉� पदॊथ塪�,  ॏऺनऺॊन

ॏऺनऺॊन, खॊ埉� पदॊथ塪�, पॠखॊ,

Correct Answer :­खॊ埉� पदॊथ塪�, पॠखॊ,  ॏऺनऺॊन 

8)

Question Stimulus :­

ोशोभⰂ न ꬅकॊर कॕ ऺरकॊरॎ ोनयमख़ ॠ‚ आदॕषख़ॠ‚ घख़हणॊओॠ कख़ तथॊ रॊजपोꬅत अोधकॊ埉�रयख़ ॠ (गजटॕड) कॕ तबॊदलॕ,
ोनयॏ៚�韐�यख़ ॠ, छॏटटॎ पर जॊनॕ कॎ  ॐऺचनॊओॠ (गजॕट) कख़ मꬅ ꬅकॊोषत करकॕ जनऺॊधॊरण तक पꬅँचॊनॕ कॕ ोलए इऺकॊ ꬅयख़ग
ोकयॊ जॊतॊ ऻॖ

अोध ॐऺचनॊ

प॑𐀆 ठॊॠकन

अनॏ𐀆 मॊरक

៱�ॊपन

Correct Answer :­अोध ॐऺचनॊ 

9)

Question Stimulus :­

‘नमक­ोमच塪�’ मꬅ ऺमॊऺ ऻॖ­

埉�ॠ埉�

कम塪�धॊरय

अퟟ�यॎभॊश

बꬅꬅॎोऻ

Correct Answer :­埉�ॠ埉� 

10)

Question Stimulus :­

ोजऺकॊ इ៚�脅यख़ ॠ ऺॕ अनॏमॊन न ोकयॊ जॊ ऺकॕ, उऺकॕ ोलए एक ष埀� ­

៱�ॊनॕ៚�脅य



अतॎ៚�脅य

ोजतॕ៚�脅य

कॊलजयॎ

Correct Answer :­अतॎ៚�脅य 

11)

Question Stimulus :­

‘अपमॊोनत ऻख़नॊ’ अथ塪� कॕ ोलए ꬅचोलत मॏऻॊशरॊ 埀�ॊ ऻॖ?

ोऺर ोऻलनॊ

ोऺर झॏकनॊ

ोऺर कॊटनॊ

ोऺर ऊपर करनॊ

Correct Answer :­ोऺर झॏकनॊ 

12)

Question Stimulus :­

‘छॊशनॎ’ मꬅ ꬅ៚�य­

नॎ

आशनॎ

शनॎ

अशनॎ

Correct Answer :­आशनॎ 

13)

Question Stimulus :­

ोनៃ� न मꬅ ऺॕ ‘भॊनॐदय’ षៃ� द कॊ ऺ៚�韺� ोश𐀆 छॕद बतॊइयॕ

भॊनॏ +  उदय 

भॊनॐ +  उदय 

भॊनॐ + दय 

भॊनॏ +  दय  

Correct Answer :­भॊनॏ +  उदय  

14)



Question Stimulus :­

‘शऻ’ ऺश塪�नॊम ोन៓� मꬅ ऺॕ ोकऺ 픅ॕणॎ कॊ ऺश塪�नॊम ऻॖ?

उퟎ�म पॏꬅह

मퟛ�म पॏꬅह

अퟸ� पॏꬅह

ोनजशॊचक

Correct Answer :­अퟸ� पॏꬅह 

15)

Question Stimulus :­

‘षयन’ कॊ  ॠऺ ोध ोश埜ॕ�द ऻॖ ­

षॕ+अन

ष+यन

षॕ+यन

ष+अन

Correct Answer :­षॕ+अन 

16)

Question Stimulus :­

इनमꬅ ऺॕ कग़न ­ ऺॊ शत塪�मॊन कॊल कॊ भॕद नऻॎ ॠ ऻॖ?

ऺॊमॊퟸ� शत塪�मॊन कॊल

ॠऺोद㤂 शत塪�मॊन कॊल

अपॐण塪� शत塪�मॊन कॊल

इनमꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­अपॐण塪� शत塪�मॊन कॊल 

17)

Question Stimulus :­

“अगर तॏमनॕ पुॊ ऻख़तॊ तख़ परॎퟀ�ॊ मꬅ पॊऺ ऻख़ गए ऻख़तॕ” शॊ埀� रचनॊ कॎ 縄ोퟷ� ऺॕ यऻ ोकऺ ꬅकॊर कॊ शॊ埀� ऻॖ

ोशퟪ�यॊोद बख़धक

ॠऺबॠध बख़धक

ऺमॏ韣�य बख़धक



ॠऺकॕत बख़धक

Correct Answer :­ ॠऺकॕत बख़धक 

18)

Question Stimulus :­

क॑दॠत ꬅ៚�य ोकन ष埀�ख़ॠ कॕ ऺॊथ जॏीतॕ ऻ塪�?

ॠऺ៱�ॊ

ऺश塪�नॊम

ोशषॕहण

ोꬅयॊ

Correct Answer :­ोꬅयॊ 

19)

Question Stimulus :­

‘तॏहॊर’ कॕ पयॊ塪�यशॊचॎ षៃ� द ऻ塪� ­

त𐀆 कॊल‚ त𐀆 ퟀ�ण‚ फग़रन

𐀆 श𐀆 थ‚ नॎरख़ग‚ रख़गऻॎन

नखत‚ नퟀ�ꬅ‚ उडॏ

पॊलॊ‚ षॎत‚ ोऻम

Correct Answer :­पॊलॊ‚ षॎत‚ ोऻम 

20)

Question Stimulus :­

‘ोन埳�ॊनशॕ कॊ फॕर’ मॏऻॊशरॕ कॊ अथ塪� ऻॖ­

लॊलच मꬅ फॠ ऺनॊ

ल埣� कॕ नजदॎक जॊकर अऺफल ऻख़नॊ

भॊरॎ चॐक ऻख़नॊ

ॠऺतॏퟷ� ऻख़ जॊनॊ

Correct Answer :­लॊलच मꬅ फॠ ऺनॊ 

21)

Question Stimulus :­

‘ ॐऺ ៚�韐�’ षៃ� द कॊ  ॠऺ ोध ोश𐀆 छॕद ऻख़गॊ



ऺ + उ៚�韐�

ॏऺ + उ៚�韐�

ॐऺ + उ៚�韐�

ऺ + ऊ៚�韐�

Correct Answer :­ ॏऺ + उ៚�韐� 

22)

Question Stimulus :­

‘षरॊफत’ मꬅ ꬅ៚�य ऻॖ

आफत

अत्

त

फत

Correct Answer :­त 

23)

Question Stimulus :­

‘ऺप埉�रशॊर’ षៃ� द मꬅ ꬅयॏ縄 त उपऺग塪� ऻॖ

प埉�र

शॊर

ऺ

आ

Correct Answer :­ऺ 

24)

Question Stimulus :­

कॏ छ षៃ� दख़ ॠ कॕ ꬅॊरॠभ मꬅ ꬅयॏ縄 त ऻख़कर उⰂ ऻꬅ ोशषॕह अथ塪� ꬅदॊन करनॕ मꬅ कग़न ऺऻयख़ग दॕतॕ ऻ塪�?

ꬅ𐀆 यय

उपऺग塪�

त𐀆 ऺ म

तदभश

Correct Answer :­उपऺग塪� 



25)

Question Stimulus :­

ोजऺ ऺमॊऺ कॕ ऺभॎ पद ꬅधॊन ऻख़, उऺॕ कऻतॕ ऻ塪� ­

बꬅꬅॎोऻ ऺमॊऺ

埉�ॠ埉� ऺमॊऺ

कम塪�धॊरय ऺमॊऺ

त埱�ॏꬅह ऺमॊऺ

Correct Answer :­埉�ॠ埉� ऺमॊऺ 

Topic:­ General Mathematics
1)

Question Stimulus :­

25

62

60

20

Correct Answer :­62 

2)

Question Stimulus :­

cos

sin

tan

Sec



Correct Answer :­sin  

3)

Question Stimulus :­

1

0

2

4

Correct Answer :­2 

4)

Question Stimulus :­

A dice has faces numbered 2, 4, 6, 8, 10 and 12.  It is thrown once. What is the probability that a prime numbered
face shows up? / एक पॊऺॕ कॕ फलकख़ॠ पर 2, 4, 6, 8, 10 एशॠ 12  ॠऺៀ�ॊॠोकत ऻ塪�। इऺॕ एक बॊर फꬅ कॊ जॊतॊ ऻॖ। ꬅॊोयकतॊ 埀�ॊ ऻॖ
ोक अभॊퟀ�  ॠऺៀ�ॊॠोकत फलक ोदखॊई दॕगॊ?

0

1/6

1/3

2/3

Correct Answer :­1/6 

5)

Question Stimulus :­

A 6cm cube is cut into 2cm cubes. The total surface area of the small cubes (in cm2) is /  एक 6 ऺॕमॎ शॊलॕ घन कख़ 2
ऺॕमॎ कॕ घनख़ ॠ मꬅ कॊटॊ जॊतॊ ऻॖ। छख़टॕ घनख़ ॠ कॊ कॏ ल प॑긃ॎय ퟀॕ�ꬅफल (ऺॕमॎ2 मꬅ) ऻॖ:

504

598

648

624

Correct Answer :­648 

6)

Question Stimulus :­



5

1

3

4

Correct Answer :­1 

7)

Question Stimulus :­

If  (x2 ­ 1) is a factor of f(x) = ax4 + 2x3  ­ 3x2 + bx ­ 4 , then the values of 'a' and 'b' respectively are  / योद (x2 ­ 1),
f(x) = ax4 + 2x3  ­ 3x2 + bx ­ 4 कॊ एक गॏणनखॠड ऻॖ, तख़ ‘a’ एशॠ ‘b’ कॊ मॊन ꬅमष: ऻॖ

­1 , 8

3 , ­ 3

7 , ­2

­4 , ­6

Correct Answer :­7 , ­2 

8)

Question Stimulus :­

If one root of the quadratic polynomial f(x) = x2 ­ mx + 8  is twice the other , then the value of 'm' is / योद ो埉�घॊत
बꬅपद f(x) = x2 ­ mx + 8  कॊ एक मॐल, अퟸ� कॊ दख़गॏनॊ ऻॖ, तब ‘m’ कॊ मॊन ऻॖ:

­ 2

2

Correct Answer :­  

9)

Question Stimulus :­



10

9

6

8

Correct Answer :­8 

10)

Question Stimulus :­

The line joining the points A (­5, 3) and B (1, 3) is trisected. Find the coordinates of points of trisection.
/ ोबⰂदॏ ओॠ A (­5 , 3) एशॠ B (1 , 3) कख़ ोमलॊनॕ शॊलॎ रॕखॊ, ऺमोꬅभॊोजत कॎ जॊतॎ ऻॖ। ऺमोꬅभॊजन ोबⰂदॏ ओॠ कॕ
ोनदꬅषॊॠक ៱�ॊत करꬅ।

(­3 , 3) and (­1 , 3) / (­3 , 3) एशॠ (­1 , 3)

(­3 , 3) and (2 , ­3) / (­3 , 3) एशॠ (2 , ­3)

(4 , ­1) and (2 , ­2) / (4 , ­1) एशॠ (2 , ­2)

(­1 , 3) and (5 , 0) / (­1 , 3) एशॠ (5 , 0)

Correct Answer :­(­3 , 3) and (­1 , 3) / (­3 , 3) एशॠ (­1 , 3) 

11)

Question Stimulus :­

15

20

22

18

Correct Answer :­20 

12)

Question Stimulus :­

If 'p' and  'q' are the zeros of the polynomial f(x) = 16x2 ­ 9,  then the value of p2 + q2 = / योद ‘p’ एशॠ ‘q’, बꬅपद
f(x) = 16x2 ­ 9 कॕ षॐퟸ� ऻ塪�। अत: p2 + q2 कॊ मॊन =



Correct Answer :­  

13)

Question Stimulus :­

If (x ­a) is a factor of 4x3 + 2ax2 ­ 6a2x + b , then the value of b = / योद 4x3 + 2ax2 ­ 6a2x + b कॊ एक
गॏणन खॠड (x ­a) ऻॖ, अत: b कॊ मॊन =

1

0

2

­1

Correct Answer :­0 

14)

Question Stimulus :­

6.4cm / 6.4 ऺॕमॎ



3.6cm / 3.6 ऺॕमॎ

6.8cm / 6.8 ऺॕमॎ

4.2cm / 4.2 ऺॕमॎ

Correct Answer :­6.4cm / 6.4 ऺॕमॎ 

15)

Question Stimulus :­

21 students prepared cylindrical pen holders using card boards. How much cardboard was used if each child made
a pen holder of radius 4cm and height 12cm? / 21 छॊꬅख़ ॠ नॕ कॊड塪�बख़ड塪� कॊ ꬅयख़ग करकॕ बॕलनॊकॊर कलम ऻख़�र बनॊए।
योद ꬅ៚ॕ�क छॊꬅ नॕ, कॊड塪�बख़ड塪� कॊ ꬅयख़ग करतॕ ꬅए  4 ऺॕमॎ ोꬅퟀ�ॊ एशॠ 12 ऺॕमॎ ऊँचॊई कॕ कलम ऻख़�र बनॊए, तख़ कॏ ल ोकतनॕ
कॊड塪�बख़ड塪� कॊ ꬅयख़ग ꬅआ?

6546cm2/ 6546ऺॕमॎ2

7392cm2/ 7392 ऺॕमॎ2

5480cm2/ 5480 ऺॕमॎ2

7962cm2/ 7962 ऺॕमॎ2

Correct Answer :­7392cm2/ 7392 ऺॕमॎ2 

16)

Question Stimulus :­

The condition, for which the system of equations 2ax + 4ay = c and  3bx + 6by = d has no solution, is /
शऻ ៚�𐀆थोत 縄 यॊ ऻख़गॎ, ोजऺमꬅ  2ax + 4ay = c और 3bx + 6by = d ऺमॎकरण ोनकॊय◌ख़ ॠ कॊ कख़ई ऻल नऻॎ ॠ ऻॖ

2ac = 3bd

2ad = 3bc

Correct Answer :­  

17)

Question Stimulus :­

25 cards are numbered from 1 to 25. One card is drawn at random. The probability that the number
drawn on the card is not a multiple of 3, is / 25 पퟎॕ�, 1 ऺॕ 25 तक  ॠऺៀ�ॊॠोकत ऻ塪�। यॊ縄៚�埜�कतॊ ऺॕ एक पퟎ�ॊ
ोनकॊलॊ जॊतॊ ऻॖ। ोनकॊलॕ गए पퟎॕ� पर ोल៚�खत  ॠऺៀ�ॊ 3 कॊ गॏणज नऻॎ ॠ ऻॖ, इऺकॎ ꬅॊोयकतॊ ऻॖ :



Correct Answer :­  

18)

Question Stimulus :­

16cm / 16 ऺॕमॎ

12cm / 12 ऺॕमॎ

4cm/ 4 ऺॕमॎ

8cm/ 8 ऺॕमॎ

Correct Answer :­16cm / 16 ऺॕमॎ 

19)

Question Stimulus :­



Correct Answer :­  

20)

Question Stimulus :­

6cm / 6 ऺॕमॎ

10cm / 10 ऺॕमॎ

5cm / 5 ऺॕमॎ

4cm / 4 ऺॕमॎ

Correct Answer :­5cm / 5 ऺॕमॎ 

21)

Question Stimulus :­

Two cylindrical vessels with radii 6cm and 8cm and heights 12cm and 9cm respectively are filled with
water. If this water when poured to fill up a new cylindrical vessel, then the level of water in the new
vessel is 7cm. Find its radius. / दख़ बॕलनॊकॊर पॊꬅ ोजनकॎ ोꬅퟀ�ॊ 6 ऺॕमॎ एशॠ 8 ऺॕमॎ एशॠ ऊँचॊई ꬅमष: 12
ऺॕमॎ एशॠ 9 ऺॕमॎ ऻॖ, जल ऺॕ भरॕ ꬅए ऻ塪�। योद इऺ जल कख़ एक नयॕ बॕलनॊकॊर पॊꬅ मꬅ भरॊ जॊए, तब नयॕ पॊꬅ मꬅ
जल कॊ ំ�र 7 ऺॕमॎ ऻॖ। इऺकॎ ोꬅퟀ�ॊ ៱�ॊत करꬅ।

12cm / 12 ऺॕमॎ

8cm / 8 ऺॕमॎ

9cm / 9 ऺॕमॎ

6cm / 6 ऺॕमॎ



Correct Answer :­12cm / 12 ऺॕमॎ 

22)

Question Stimulus :­

If the nth term of an A.P is 6n + 2 , then the sum of first 'n' terms of the A.P is / योद एक ऺमॊॠतर आरख़ऻण कॊ nशॊँ
पद,  6n + 2 ऻॖ, तब ऺमॊॠतर आरख़ऻण कॕ ꬅथम “n” पदख़ ॠ कॊ यख़ग ऻॖ

n(n + 2)

n(2n + 1)

n(3n + 5)

n(2n + 3)

Correct Answer :­n(3n + 5) 

23)

Question Stimulus :­

38°

20°

24°

30°

Correct Answer :­24° 

24)

Question Stimulus :­

The angle whose supplement is thrice its complement is  / शऻ कख़ण ोजऺकॊ  ॠऺपॐरक इऺकॕ पॐरक कॊ ोतगॏनॊ ऻॖ:

50°

75°

30°



45°

Correct Answer :­45° 

25)

Question Stimulus :­

The radius of the wheels of a car is 50cm. How many complete revolutions does each wheel make in
5min, when the car is travelling at a speed of 132 km/h? / एक कॊर कॕ पोऻयॕ कॎ ोꬅퟀ�ॊ 50 ऺॕमॎ ऻॖ। ꬅ៚ॕ�क
पोऻयॊ 5 ोमनट मꬅ ोकतनॎ पॐण塪� प埉�रꬅमॊ करॕगॊ, जबोक कॊर 132 ोकमॎ/घॠटॕ कॎ रఄॊर ऺॕ यॊꬅॊ कर रऻॎ ऻॖ?

4350

3780

3500

4175

Correct Answer :­3500 

Topic:­ General English
1)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 

The doctor _______ assured me that my mother would be fine.

un

re

en

de

Correct Answer :­re 

2)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence:

 

Drunken driving _________ many accidents.

was causing

causes

is causing

cause



Correct Answer :­causes 

3)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Joshy Jaroor, the sports reporter, always reports any event like it is.

Joshy Jaroor, the sports reporter

always reports

an event

like it is

Correct Answer :­like it is 

4)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

All the players were animated about the last game of the series, which they expected to be real exciting.

all the players were animated

about the last game of the series

which they expected to be

real exciting

Correct Answer :­real exciting 

5)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

At the end of the tube there ____________ two lenses: one which gathers light and the other which
magnifies the image.

have been

is

are

are being



Correct Answer :­are 

6)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

“You must not tell anyone,” my mother said.

My mother warned me not to tell to anyone.

My mother warned me that I must not to tell anyone.

My mother warns me not to tell anyone.

My mother warned me not to tell anyone.

Correct Answer :­My mother warned me not to tell anyone. 

7)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

You can see what I am doing ________ you observe me carefully.

and

until

if

whereas

Correct Answer :­if 

8)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

 

I was filled with elation when I passed the exam with a first class.

contentment

joy

satisfaction

consolation

Correct Answer :­joy 

9)

Question Stimulus :­



Choose the appropriate option that fills in the given sentence correctly:

It is polite to greet your colleagues first thing ________ the morning.

in

before

on

by

Correct Answer :­in 

10)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

The pictures on the microfilm are very small ________ cannot be seen with the naked eye.

but

and

or

because

Correct Answer :­and 

11)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

The poor are helped by her.

She helps the poor.

She helped the poor.

She is helping the poor.

She is helped by the poor.

Correct Answer :­She helps the poor. 

12)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

Harish is a wise boy. (The negative form of the sentence)



Harish is not a foolish boy.

Harish is not a wise boy.

Harish is not being a foolish boy.

Harish is never a wise boy.

Correct Answer :­Harish is not a foolish boy. 

13)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

He sent her a lovely bouquet ________ red roses which she threw ________ the floor.

in, to

on, for

of, to

of, on

Correct Answer :­of, on 

14)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

 

Because his argument was so confusing, __________ people understood it.

very few

a few

less

many

Correct Answer :­very few 

15)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

Shut the door.

The door is to be shutted.

The door is shut.



Let the door be shut.

Let the door should be shutted.

Correct Answer :­Let the door be shut. 

16)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

“The customs officer said, “What is your name?”

The customs officer asked me what my name is.

The customs officer asked me my name.

The customs officer asked me to tell him my name.

The customs officer asked me to tell him what my name was.

Correct Answer :­The customs officer asked me what my name is. 

17)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Thomas the new teacher started work last week

Thomas, the new teacher, started work last week.

Thomas, the new teacher started work last week.

Thomas the new teacher, started work last week.

Thomas, the new teacher, started work last week?

Correct Answer :­Thomas, the new teacher, started work last week. 

18)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

Honesty is the best policy. (Question tag)

Honesty is the best policy, is it?

Is honesty the best policy?

The best policy is honesty, is not it?

Honesty is the best policy, isn’t it?



Correct Answer :­Honesty is the best policy, isn’t it? 

19)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

Grapes _______ in tropical climates.

don’t grow

are not growing

doesn’t grow

did not grew

Correct Answer :­don’t grow 

20)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Please order some paper pencils envelopes and erasers

Please; order some paper, pencils, envelopes and erasers.

Please order, some paper, pencils, envelopes and erasers.

Please, order some paper, pencils, envelopes and erasers.

Please order some paper, pencils, envelopes and erasers.

Correct Answer :­Please order some paper, pencils, envelopes and erasers. 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the machine
is really doing its job. Now a German company called Biotronik has developed a pacemaker that clears
up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik pacemaker
tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a purse or on a
bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to the doctor’s office.
If patients experience scary symptoms, they can wave a magnet in front of their chests to prompt an
immediate transmission. Slightly costlier than traditional pacemakers ­ it averages about $60000 ­ the
Biotronik pacemaker is available now. For more info, visit biotronik.com.

 



What does the pacemaker do?

It monitors heartbeats.

It monitors and regulates heartbeats.

It monitors the breath cycle.

It monitors blood circulation.

Correct Answer :­It monitors and regulates heartbeats. 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the machine
is really doing its job. Now a German company called Biotronik has developed a pacemaker that clears
up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik pacemaker
tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a purse or on a
bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to the doctor’s office.
If patients experience scary symptoms, they can wave a magnet in front of their chests to prompt an
immediate transmission. Slightly costlier than traditional pacemakers ­ it averages about $60000 ­ the
Biotronik pacemaker is available now. For more info, visit biotronik.com.

 

What are pacemakers?

A neurological device.

A cardiac device.

An artificial limb.

A grafted valve in the heart.

Correct Answer :­A cardiac device. 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the machine
is really doing its job. Now a German company called Biotronik has developed a pacemaker that clears
up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik pacemaker
tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a purse or on a
bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to the doctor’s office.
If patients experience scary symptoms, they can wave a magnet in front of their chests to prompt an
immediate transmission. Slightly costlier than traditional pacemakers ­ it averages about $60000 ­ the
Biotronik pacemaker is available now. For more info, visit biotronik.com.

 

What is the cost of the Biotronik pacemaker?



$20000

$30000

$50000

$60000

Correct Answer :­$60000 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the machine
is really doing its job. Now a German company called Biotronik has developed a pacemaker that clears
up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik pacemaker
tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a purse or on a
bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to the doctor’s office.
If patients experience scary symptoms, they can wave a magnet in front of their chests to prompt an
immediate transmission. Slightly costlier than traditional pacemakers ­ it averages about $60000 ­ the
Biotronik pacemaker is available now. For more info, visit biotronik.com.

 

 How is the pacemaker devised by Biotronik different from other pacemakers?

It is smaller.

It is easier to replace.

It can fax daily reports.

It is cheaper.

Correct Answer :­It can fax daily reports. 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the machine
is really doing its job. Now a German company called Biotronik has developed a pacemaker that clears
up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik pacemaker
tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a purse or on a
bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to the doctor’s office.
If patients experience scary symptoms, they can wave a magnet in front of their chests to prompt an
immediate transmission. Slightly costlier than traditional pacemakers ­ it averages about $60000 ­ the
Biotronik pacemaker is available now. For more info, visit biotronik.com.

 

What must the patient do when dangerous symptoms are noticed while wearing the Biotronik
pacemaker?

Raise the voltage of the transmitter.



Shake up the transmitter.

Push a button in the transmitter.

Wave a magnet in front of the chest.

Correct Answer :­Wave a magnet in front of the chest. 

Topic:­ General Knowledge
1)

Question Stimulus :­

____________ is the highest peak of Madhya Pradesh. / ___________ , मퟛ�ꬅदॕष कॊ ऺशꬅ韣� ोषखर ऻॖ।

Arma Konda / अरमॊ कख़ॠडॊ

K2 / कॕ2

Doddabetta / डख़डॊबॕꨂॊ

Dhupgarh / धॐपगु

Correct Answer :­Dhupgarh / धॐपगु 

2)

Question Stimulus :­

_________ was not in “Lal Bal Pal” the triumvirate in India who advocated the Swadeshi movement. / भॊरत मꬅ
埉�दॕषॎ आॠदख़लन कख़ पퟀ�पख़ोहत करनॕ शॊलॎ ोꬅमॐोत塪� "लॊल बॊल पॊल" मꬅ _________ नऻॎ ॠ थॕ।

Bal Gangadhar Tilak / बॊल गॠगॊधर ोतलक

Bipin Chandra Pal / ोबोपन चॠꬅ पॊल

Lal Bahadur Shastri / लॊल बऻॊदॏर षॊ៩�ॎ

Lala Lajpat Rai / लॊलॊ लॊजपत रॊय

Correct Answer :­Lal Bahadur Shastri / लॊल बऻॊदॏर षॊ៩�ॎ 

3)

Question Stimulus :­

First Indian woman to win an Olympic medal is ________. / ओलॠोपक पदक जॎतनॕ शॊलॎ पऻलॎ भॊरतॎय मोऻलॊ
________ ऻ塪�।

Saina Nehwal / ऺॊइनॊ नॕऻशॊल

 Mary Kom / मॖरॎ कख़म

P.V. Sindhu / पॎ. शॎ. ोऺ韺�ॏ

Karnam Malleswari / कण塪�म मꨂॕ韷�रॎ

Correct Answer :­Karnam Malleswari कण塪�म मꨂॕ韷�रॎ 



Correct Answer :­Karnam Malleswari / कण塪�म मꨂॕ韷�रॎ 

4)

Question Stimulus :­

___________ is the only state in India to have its own official flag along with National flag. / ___________ भॊरत
मꬅ एकमॊꬅ ऐऺॊ रॊퟀ� ऻॖ, ोजऺकॊ रॊퟷ�塪� ॎय 埜�ज कॕ ऺॊथ­ऺॊथ 埉�यॠ कॊ आोधकॊ埉�रक 埜�ज भॎ ऻॖ।

Uttar Pradesh / उퟎ�र ꬅदॕष

Madhya Pradesh / मퟛ�ꬅदॕष

Bihar / ोबऻॊर

Jammu & Kashmir / ज韘�ॐ एशॠ क퟼�ॎर

Correct Answer :­Jammu & Kashmir / ज韘�ॐ एशॠ क퟼�ॎर 

5)

Question Stimulus :­

The largest district in Madhya Pradesh by population is _______. जन ॠऺៀ�ॊ कॕ 縄ोퟷ�कख़ण ऺॕ मퟛ�ꬅदॕष कॊ ऺबऺॕ
बीॊ ोजलॊ __________ ऻॖ।

Bhopal / भख़पॊल

Chhindwara / ोछॠदशॊीॊ

Indore / इॠदग़र

Dhar / धॊर

Correct Answer :­Indore / इॠदग़र 

6)

Question Stimulus :­

Keoti  is in _________ district of Madhya Pradesh. / कॕशटॎ, मퟛ� ꬅदॕष कॕ _________ ोजलॕ मꬅ ऻॖ।

Bhopal / भख़पॊल

Chambal / चॠबल

Gwalior / 埕�ॊोलयर

Rewa / रॎशॊ

Correct Answer :­Rewa / रॎशॊ 

7)

Question Stimulus :­

ISRO Master control facility is located at ___________ in Madhya Pradesh. / इऺरख़ मॏៀ� ोनयॠꬅण  ॏऺ ोशधॊ, मퟛ�
ꬅदॕष कॕ ___________ मꬅ ៚�𐀆थत ऻॖ।



Bhopal / भख़पॊल

Indore / इॠदग़र

Bhojpur / भख़जपॏर

Jabalpur / जबलपॏर

Correct Answer :­Bhopal / भख़पॊल 

8)

Question Stimulus :­

First Indian Woman to win a commonwealth gymnastics medal is ___ . / रॊퟷ�塪�मॠडल ोजमनॊ៚�៭�क मꬅ पदक जॎतनॕ
शॊलॎ पऻलॎ भॊरतॎय मोऻलॊ ____ ऻॖ।

Jwala Gutta / ꨂॊलॊ गॏꨂॊ

Deepika Kumari / दॎोपकॊ कॏ मॊरॎ

P.V. Sindhu / पॎ.शॎ ो ॠऺधॏ

Dipa Karmakar / दॎपॊ कमॊ塪�कर

Correct Answer :­Dipa Karmakar / दॎपॊ कमॊ塪�कर 

9)

Question Stimulus :­

Who won the 2016 Asian Men’s Hockey Champions Trophy? / ोकऺ दॕष कॎ पॏꬅह ऻॗकॎ टॎम नॕ 2016 कॕ एोषयॊई
पॏꬅह ऻॗकॎ चॖ៚�ퟨ�यन ट塪� ॗफॎ जॎतॎ?

South Korea / दोퟀ�ण कख़埉�रयॊ

Malaysia / मलॕोषयॊ

India / भॊरत

Pakistan / पॊोक𐀆 तॊन

Correct Answer :­India / भॊरत 

10)

Question Stimulus :­

___________ has the world’s largest population of wild water buffalo. /  ोश𐀆 श मꬅ जॠगलॎ भॖऺख़ ॠ कॎ ऺबऺॕ बीॎ आबॊदॎ
......................... मꬅ ऻॖ।

Meghalaya / मॕघॊलय

Sikkim / ोऺ៚�⬈म

Assam / अऺम

West Bengal / पोퟑ�म बॠगॊल



Correct Answer :­Assam / अऺम 

11)

Question Stimulus :­

The river Narmada drains into the __________. / नम塪�दॊ नदॎ ________ मꬅ ोमलतॎ ऻॖ।

Arabian Sea / अरब ऺॊगर

Bay of Bengal / बॠगॊल कॎ खॊीॎ

Indian ocean / ोऻៅ� मऻॊऺॊगर

Atlantic ocean / अटलॊॠोटक मऻॊऺॊगर

Correct Answer :­Arabian Sea / अरब ऺॊगर 

12)

Question Stimulus :­

IRDA of India regulates and develops ________ industry in India. / भॊरत कॊ 'आईआरडॎए' भॊरत मꬅ
________उ埉�ख़ग कख़ ोनयॠोꬅत और ोशकोऺत करतॊ ऻॖ।

Banking / ब塪�ोकॠ ग

Investment / ोनशॕष

Mutual Funds / 韜�ॐचॏअल फॠ ड्ऺ

Insurance / बॎमॊ

Correct Answer :­Insurance / बॎमॊ 

13)

Question Stimulus :­

Pandit Birju Maharaj is an exponent of _________ dance. / पॠोडत ोबरजॐ मऻॊरॊज _________ न॑៚� कॕ ꬅोतपॊदक ऻ塪�।

Kathak / कퟎ�क

Kathakali / कथकलॎ

Kuchipudi / कॏ ोचपॏीॎ

Odissi / ओोडऺॎ

Correct Answer :­Kathak / कퟎ�क 

14)

Question Stimulus :­

“The Test of My life” is an autobiography of cricketer __________. / “द टॕ៭� ऑू मॊय लॊइफ” ोꬅकॕटर
________ कॎ आ埱�कथॊ ऻॖ।



Sachin Tendulkar / ऺोचन तꬅडॏलकर

Yuvraj Singh / यॏशरॊज ो ॠऺऻ

Harbhajan Singh / ऻरभजन ो ॠऺऻ

M.S. Dhoni / एम.एऺ.धख़नॎ

Correct Answer :­Yuvraj Singh / यॏशरॊज ो ॠऺऻ 

15)

Question Stimulus :­

The Chairman of the Union Public Service Commission is appointed by the __________ of India. /  ॠऺघ लख़क ऺॕशॊ
आयख़ग कॕ अퟛ�ퟀ� कॎ ोनयॏ៚�韐�,  __________ 埉�ॊरॊ कॎ जॊतॎ ऻॖ।

The Union Home Minister of India / भॊरत कॕ कꬅ ꬅॎय ग॑ऻ मॠꬅॎ

The President of India / भॊरत कॕ रॊퟷ�塪�पोत

The Chief Justice of India / भॊरत कॕ मॏៀ� Ⰲ यॊयमॐोत塪�

Lok Sabha Members of India / भॊरत कॕ लख़कऺभॊ ऺद韷�ख़ॠ

Correct Answer :­The President of India / भॊरत कॕ रॊퟷ�塪�पोत 

16)

Question Stimulus :­

How many countries participated in the 2016 Kabaddi World Cup? / 2016 मꬅ ꬅए कब៪�ॎ कॕ ोश𐀆 श कप मꬅ ोकतनॕ
दॕषख़ ॠ कॎ टॎमख़ ॠ नॕ ोऻ𐀆 ऺ ॊ ोलयॊ थॊ?

8

10

12

14

Correct Answer :­12 

17)

Question Stimulus :­

As per RBI rules, what is the minimum age required to open and operate the savings bank accounts
independently? / भॊरतॎय 埉�रिश塪� ब塪�क कॕ ोनयमॊनॏऺॊर, बचत खॊतॊ खख़लनॕ तथॊ 𐀆 शॊय𐀆 त ꬅप ऺॕ  ॠऺचॊोलत करनॕ कॕ ोलए
Ⰲ यॐनतम आयॏ _______ ऻख़नॎ चॊोऻए।

08 Years / 08 शह塪�

10 Years / 10 शह塪�

14 Years / 14 शह塪�



18 Years / 18 शह塪�

Correct Answer :­10 Years / 10 शह塪� 

18)

Question Stimulus :­

Which of the following metals is called as ‘King of Metals’? / ोनៃ� न मꬅ ऺॕ ोकऺ धॊतॏ कख़ ‘धॊतॏओॠ कॊ रॊजॊ’ कऻॊ
जॊतॊ ऻॖ?

Silver / च ॠॗदॎ

Gold / ऺख़नॊ

Copper / त ॠॗबॊ

Steel / 𐀆 टॎल

Correct Answer :­Gold / ऺख़नॊ 

19)

Question Stimulus :­

Which is the brightest star in the sky? / आकॊष मꬅ ऺबऺॕ चमकॎलॊ तॊरॊ कग़न ऻॖ?

Sirius / ऺॎ埉�रयऺ (𐀆 यॊध)

Vega / शॕगॊ

Rigel / रॊइजॅल

Sun /  ॐऺय塪�

Correct Answer :­Sirius / ऺॎ埉�रयऺ (𐀆 यॊध) 

20)

Question Stimulus :­

In which of the following fields is Kalidas Award not presented by Government of Madhya Pradesh? /
ोन៓�ोल៚�खत ퟀॕ�ꬅख़ ॠ मꬅ ऺॕ ोकऺमꬅ मퟛ� ꬅदॕष ऺरकॊर 埉�ॊरॊ कॊोलदॊऺ पॏरퟍ�ॊर नऻॎ ॠ ोदयॊ जॊतॊ?

Classical music / षॊ៩�ॎय  ॠऺगॎत  

Theatre / रॠगमॠच    

Visual Art / 縄ퟪ�कलॊ

Poetry / कोशतॊ

Correct Answer :­Poetry / कोशतॊ 

21)

Question Stimulus :­



Indian Institute of Information Technology and Management is located in ________ of Madhya Pradesh. /
भॊरतॎय  ॐऺचनॊ ꬅग़埉�ख़ोगकॎ एशॠ ꬅबॠधन  ॠऺ𐀆थॊन, मퟛ� ꬅदॕष कॕ ________ मꬅ ៚�𐀆थत ऻॖ।

Gwalior / 埕�ॊोलयर

Sagar / ऺॊगर

Sanchi / ऺॊॠचॎ

Maheshwar / मऻॕ韷�र

Correct Answer :­Gwalior / 埕�ॊोलयर 

22)

Question Stimulus :­

_________ is declared the first “baby friendly state” in the world by the World Health Organization. / ोश韷�
埉�ॊퟪ�  ॠऺगठन 埉�ॊरॊ _________ कख़ ोश韷� कॊ पऻलॊ "ब韣ॕ� कॕ ोलए अनॏकॐ ल रॊퟀ�" घख़ोहत ोकयॊ गयॊ।

Kerala / कॕरल

Madhya Pradesh / मퟛ�ꬅदॕष

Tamil Nadu / तोमलनॊडॏ

Karnataka / कनॊ塪�टक

Correct Answer :­Kerala / कॕरल 

23)

Question Stimulus :­

The first Indian and only tennis player to compete at seven Olympic games is _________. / _______________ ,
ꬅथम भॊरतॎय एशॠ एकमॊꬅ टॕोनऺ ៚�खलॊीॎ ऻ塪�, ोज韷�ख़ ॠनॕ ऺॊत ओलॠोपक खॕलख़ ॠ मꬅ भॊग ोलयॊ ऻॖ।

Leander Paes / ोलएॠ डर पॕऺ

Mahesh Bhupathi / मऻॕष भॐपोत

Sania Mirza / ऺॊोनयॊ ोमजॊ塪�

Somdev Devvarman / ऺख़मदॕश दॕशशम塪�न

Correct Answer :­Leander Paes / ोलएॠ डर पॕऺ 

24)

Question Stimulus :­

Among the following places, where is the maximum sunlight found in December? / ोन៓�ोल៚�खत 𐀆थॊनख़ ॠ मꬅ ऺॕ आप
ोदऺះ�र मꬅ कऻॊँ ऺबऺॕ अोधक  ॐऺय塪� कॊ ꬅकॊष पॊएँगॕ?

Srinagar / 픅ॎनगर

Kanyakumari / कퟸ�ॊकॏ मॊरॎ



Ooty / ऊटॎ

Shimla / ोषमलॊ

Correct Answer :­Kanyakumari / कퟸ�ॊकॏ मॊरॎ 

25)

Question Stimulus :­

Khajuraho group of temples were dedicated to two religions namely _____ and _______. / खजॏरॊऻख़ मꬅ मॠोदरख़ ॠ कॕ
ऺमॐऻ, _______ और ________ नॊमक दख़ धमꬅ कॕ ोलए ऺमोप塪�त थॕ।

Hinduism, Buddhism / ोऻॠदॐ  धम塪�, बग़埀� धम塪�

Hinduism, Jainism / ोऻॠदॐ  धम塪�, जॖन धम塪�

Buddhism, Jainism / बग़埀� धम塪�, जॖन धम塪�

Jainism, Islam / जॖन धम塪�, इퟭ�ॊम धम塪�

Correct Answer :­Hinduism, Jainism / ोऻॠदॐ  धम塪�, जॖन धम塪� 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

What is to be used to add text in a MS PowerPoint slide? / एमएऺ पॗशर 〄 शॊइॠट 𐀆 लॊइड मꬅ, टॕ縄 𐀆 ट एड करनॕ कॕ ोलए
इनमꬅ ऺॕ ोकऺकॊ ꬅयख़ग ोकयॊ जॊतॊ ऻॖ?

Text box / टॕ縄 𐀆 ट बॗ縄 ऺ

Note box / नख़ट बॗ縄 ऺ

Text layer / टॕ縄 𐀆 ट लॕयर

Comment box / कमꬅट बॗ縄 ऺ

Correct Answer :­Text box / टॕ縄 𐀆 ट बॗ縄 ऺ  

2)

Question Stimulus :­

What are the forms of editing restrictions and protections that are made available with MS Word (ver. 2010)? /
शॕ कग़न ऺॕ एोडोटॠग 埉�र៭�塪�縄 षॠऺ  तथॊ ꬅख़टॕ縄 षॠऺ  ऻ塪� जख़ MS Word (शि塪�न 2010) मꬅ उपलៃ� ध ऻ塪�?

Restricted editing of a portion or section of the document / ोकऺॎ डॗ埀�ॐमꬅट कॕ भॊग यॊ खॠड कॎ 埉�र៭�塪�縄 टॕड
एोडोटॠग

Blocking specific users from editing the document / ोशोष𐀆 ट यॐज 塪ऺ� कख़ डॗ埀�ॐमꬅट कॎ एोडोटॠग ऺॕ ៃ� लॗक कर दॕनॊ

Password protection of the document / डॗ埀�ॐमꬅट मꬅ पॊऺशड塪� ꬅख़टॕ縄 षन

All of the above / उपरख़縄 त ऺभॎ



Correct Answer :­All of the above / उपरख़縄 त ऺभॎ 

3)

Question Stimulus :­

The part of machine level instruction, which tells the central processor what has to be done, is _____________. /
मषॎन लॕशल इॠ៭�塪�  ៵ॖ�न कॊ शऻ भॊग, जख़  ꬅऺट塪� ल ꬅख़ऺॕऺर कख़ अशगत करॊतॊ ऻॖ ोक 埀�ॊ ोकयॊ जॊनॊ ऻॖ, कऻलॊतॊ ऻॖ

Opeƌa�oŶ Đode / ऑपरॕषन कख़ड

Addƌess / ए៪�塪� ॕऺ

LoĐatoƌ / लख़कॕटर

Flip‐Flop / ៚�埧�प­埧�ॗप

Correct Answer :­Opeƌa�oŶ Đode / ऑपरॕषन कख़ड 

4)

Question Stimulus :­

What type of computer supports hundreds of users at any given time? / ोकऺ ꬅकॊर कॊ कៃ� 〄 यॐटर, ोकऺॎ ोदए गए
ऺमय पर ऺॖकीख़ ॠ ꬅयख़縄 तॊओॠ (यॐज 塪ऺ�) कख़ ऺपख़ट塪� करतॊ ऻॖ?

Mainframe Computer / मॕनꬅॕम कៃ� 〄 यॐटर

Mini Computer / ोमनॎ कៃ� 〄 यॐटर

Micro Computer / मॊइꬅख़ कៃ� 〄 यॐटर

None of the Above / उपरख़縄 त मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Mainframe Computer / मॕनꬅॕम कៃ� 〄 यॐटर 

5)

Question Stimulus :­

In MS Word, ͞Ctƌl + Right Aƌƌoǁ͟ is used to / MS Word मꬅ ͞Ctƌl + Right Aƌƌoǁ͟ कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Moves the cursor one word right / क 塪ऺ�र कख़ एक षៃ� द कॕ दॊईॠ ओर बुॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ eŶd of the liŶe / क 塪ऺ�र कख़ लॊइन कॕ अॠत तक बुॊनॕ कॕ ोलए

Moves the cursor end of the document / क 塪ऺ�र कख़ डॗ縄 यॐमꬅट कॕ अॠत तक बुॊनॕ कॕ ोलए 

Moǀes the Đuƌsoƌ oŶe Paƌagƌaph doǁŶ / क 塪ऺ�र कख़ एक पॖरॊꬅॊफ नॎचॕ बुॊनॕ कॕ ोलए

Correct Answer :­Moves the cursor one word right / क 塪ऺ�र कख़ एक षៃ� द कॕ दॊईॠ ओर बुॊनॕ कॕ ोलए 

6)

Question Stimulus :­

Which of the following are not MS PowerPoint views? / ोनៃ� न मꬅ ऺॕ 縄 यॊ एमएऺ पॗशर〄 शॊइॠट 𐀆 यॐ नऻॎ ॠ ऻॖ?

Page view / पॕज 𐀆 यॐ



Print view / ोꬅॠट 𐀆 यॐ

Normal view / नॗम塪�ल 𐀆 यॐ

Outline view / आउटलॊइन 𐀆 यॐ

Correct Answer :­Page view / पॕज 𐀆 यॐ 

7)

Question Stimulus :­

IŶ MS Woƌd ϮϬϬϳ, which enables us to send the same letter to different persons? / MS Woƌd 2007 मꬅ, ोनៃ� न मꬅ ऺॕ
縄 यॊ ऻमꬅ एक लॕटर कख़ अनॕक लख़गख़ ॠ तक भॕजनॕ कॕ ोलए ऺퟀ�म बनॊतॊ ऻॖ?

Macros / मॖꬅख़ि

Template / टॕៃ� 〄 लॕट

Mail merge / मॕल मज塪�

None of the above / उपरख़縄 त मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Mail merge / मॕल मज塪� 

8)

Question Stimulus :­

While working with MS­DOS which command transfers a specific file from one disk to another? / MS­DOS कॕ ऺॊथ
कॊय塪� करतॕ ऺमय कग़न ऺॊ कमॊॠड, ोकऺॎ ोशोष𐀆 ट फॊइल कख़ एक ोड𐀆 क ऺॕ दॐ ऺरॎ मꬅ ट塪� ॊॠऺफर करतॊ ऻॖ?

Copy / कॗपॎ

Diskcopy / ोड𐀆 ककॗपॎ

Time / टॊइम

Rename / 埉�रनॕम

Correct Answer :­Copy / कॗपॎ 

9)

Question Stimulus :­

The Internet was originally a project of which agency? / इॠटरनॕट मॐल ꬅप ऺॕ ोकऺ एजꬅऺॎ कॊ ꬅख़जॕ縄 ट थॊ?

ARPA

NSF

NSA

None of these / इनमꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ARPA 

10)



Question Stimulus :­

In MS­Excel 2007, How do you select an entire column? / आप MS­Excel 2007 मꬅ, पॐरॕ कॗलम कॊ चयन कॖऺॕ करतॕ ऻ塪�? 

SeleĐt Edit > SeleĐt > ColuŵŶ fƌoŵ the ŵeŶu / एोडट ऺॕलॕ韀� करꬅ  > ऺॕलॕ縄 ट > मॕⰂ यॐ ऺॕ कॗलम

CliĐk the ĐoluŵŶ headiŶg le�eƌ / कॗलम ऻॕोडॠग लॕटर पर ៚�프क करꬅ

Hold down the shift key as you click anywhere in the column. / जब आप कॗलम मꬅ कऻॎ ॠ और ៚�프क करꬅ  तब
shift key दबॊयॕ रखꬅ।  

Hold doǁŶ the Ctƌl keǇ as Ǉou ĐliĐk aŶǇǁheƌe iŶ the ĐoluŵŶ / जब आप कॗलम मꬅ कऻॎ ॠ और ៚�프क करꬅ  तब
Ctƌl keǇ दबॊयॕ रखꬅ।

Correct Answer :­CliĐk the ĐoluŵŶ headiŶg le�eƌ / कॗलम ऻॕोडॠग लॕटर पर ៚�프क करꬅ  

11)

Question Stimulus :­

In Linux, what command is used with vi editor to delete a single character under the cursor? / ोलन縄 ऺ
मꬅ, क 塪ऺ�र कॕ तऻत ोकऺॎ ो ॠऺगल कॖरॕ縄 टर (एक अퟀ�र) कख़ ोडोलट करनॕ कॕ ोलए vi एडॎटर कॕ ऺॊथ ोकऺ कमॊॠड कॊ उपयख़ग
ोकयॊ जॊतॊ ऻॖ?

x

y

a

z

Correct Answer :­x 

12)

Question Stimulus :­

How long is an IPv6 address? / एक IPv6 ए៪�塪� ॕऺ ोकतनॊ लॠबॊ ऻख़तॊ ऻॖ?

ϯϮ ďits / ϯϮ ोबट्ऺ

ϭϮϴ ďǇtes / ϭϮϴ बॊइट्ऺ

ϲϰ ďits / ϲϰ ोबट्ऺ

ϭϮϴ ďits / ϭϮϴ ोबट्ऺ

Correct Answer :­ϭϮϴ ďits / ϭϮϴ ोबट्ऺ 

13)

Question Stimulus :­

IŶ EǆĐel ϮϬϬϳ, Teǆt foƌŵulas _____________. / EǆĐel ϮϬϬϳ मꬅ, टॕ縄 𐀆 ट फॗमॐ塪�लॊ_____________

Replace cell references / ऺॕल रॕफरꬅऺ कख़ 埉�र〄 लॕऺ करतॕ ऻ塪�।



Return ASCII values of characters / कॖरॕ縄 ट 塪ऺ� कॎ ASCII शॖ⠅ यॐ 埉�रटन塪� करतॕ ऻ塪�।

Concatenate and manipulate text /  टॕ縄 ट कख़ जख़ीतॕ और मॖोनपॏलॕट करतॕ ऻ塪�।

Show formula error value / फॗमॐ塪�लॊ एरर शॖ⠅ यॐ ꬅदोष塪�त करतॕ ऻ塪�।

Correct Answer :­Concatenate and manipulate text /  टॕ縄 ट कख़ जख़ीतॕ और मॖोनपॏलॕट करतॕ ऻ塪�। 

14)

Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh ĐoŵŵaŶd diǀides the suƌfaĐe of the ďlaŶk disk iŶto seĐtoƌs aŶd assigŶ a uŶiƋue addƌess to eaĐh
oŶe? / MS‐DOS मꬅ कग़न ऺॊ कमॊॠड, ៃ� ल塪�क ोड𐀆 क कॎ ऺरफॕऺ कख़ ऺॕ縄 ट 塪ऺ� मꬅ ोशभॊोजत करतॊ ऻॖ तथॊ ꬅ𐀆 यॕक कख़ एक
यॐोनक ए៪�塪� ॕऺ आशॠोटत करतॊ ऻॖ?

Ver

Format

Fat

Chkdsk 

Correct Answer :­Format 

15)

Question Stimulus :­

IŶ MS Woƌd, AutoCoƌƌeĐt ǁas oƌigiŶallǇ desigŶed to ƌeplaĐe _________ ǁoƌds as Ǉou tǇpe. / MS Woƌd मꬅ,
ऑटख़करॕ縄 ट कख़ मॐल ꬅप ऺॕ टॊइप ोकए जॊनॕ शॊलॕ _________ षៃ� दख़ ॠ कख़ बदलनॕ कॕ ोलए ोडजॊइन ोकयॊ गयॊ थॊ।

Shoƌt, ƌepe��ǀe / छख़टॕ,  ॠऺ ोퟀ�〄 त

Gƌaŵŵa�ĐallǇ iŶĐoƌƌeĐt / 𐀆 यॊकरण कॕ आधॊर पर गलत

Misspelled / गलत 𐀆 पॕोलॠग शॊलॕ

NoŶe of the aďoǀe / उपरख़縄 त मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Misspelled / गलत 𐀆 पॕोलॠग शॊलॕ 

16)

Question Stimulus :­

What should you type into a cell in MS Excel (all versions) to invoke a function list? / MS Excel (ऺभॎ शि塪�न) मꬅ
फॠ 縄 षन ोल𐀆 ट उ𐀆 पⰂ न करनॕ कॕ ोलए आपकख़ ऺॕल मꬅ 縄 यॊ टॊइप करनॊ पीॕगॊ?

+

&

#

=



Correct Answer :­= 

17)

Question Stimulus :­

In Linux, what command is used to remove the directory? / ोलन縄 ऺ  मꬅ, डॊयरॕ縄 टरॎ कख़ 埉�रमॐश
करनॕ कॕ ोलए ोकऺ कमॊॠड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Rdir

Remove

rd

Rmdir

Correct Answer :­Rmdir 

18)

Question Stimulus :­

What are the two required attributes of HTML <img> tag? / HTML <img> tag कॕ दख़
आश𐀆 यक गॏण 縄 यॊ ऻ塪�?

sƌĐ aŶd alt / sƌĐ तथॊ alt

alt aŶd ŵaƌk / alt तथॊ ŵaƌk

ĐaŶǀas aŶd sƌĐ / ĐaŶǀas तथॊ sƌĐ

Đap�oŶ aŶd sƌĐ / Đap�oŶ तथॊ sƌĐ

Correct Answer :­sƌĐ aŶd alt / sƌĐ तथॊ alt 

19)

Question Stimulus :­

WhiĐh of the folloǁiŶg is aŶ eǆaŵple of a ƌeal �ŵe opeƌa�Ŷg sǇsteŵ? / ोनៃ� नोल៚�खत मꬅ ऺॕ 縄 यॊ, 埉�रयल टॊइम
ऑपरॕोटॠग ोऺ𐀆 टम कॊ एक उदॊऻरण ऻॖ?

Lynx / ोलन縄 ऺ

Novell NetWare / नॗशॕल नॕटशॕयर

Microsoft Windows Server 2008 / मॊइꬅख़ऺॗퟨ� ोशॠडख़ि ऺश塪�र 2008

XP Embedded / XP एៃ� बॕडॕड

Correct Answer :­XP Embedded / XP एៃ� बॕडॕड 

20)

Question Stimulus :­

What flavor of Network Address Translation can be used to have one registered IP address which allows
unregistered IP addresses to connect to the global Internet? /  ोकऺ तरऻ कॕ नॕटशक塪�  ए៪�塪� ॕऺ ट塪� ॊॠऺलॕषन कॊ उपयख़ग, एक



पॠजॎक॑त IP ए៪�塪� ॕऺ कॕ ोलए ोकयॊ जॊतॊ ऻॖ जख़ अपॠजॎक॑त IP ए៪�塪� ॕऺ कख़ ퟜ�ख़बल इॠटरनॕट ऺॕ कनॕ韀� करनॕ कॎ  ॏऺोशधॊ ꬅदॊन करतॊ
ऻॖ ?

BasiĐ NAT / बॕोऺक नॕट

Sta�Đ NAT / 𐀆 टॖोटक नॕट

DǇŶaŵiĐ NAT / डॊयनॊोमक नॕट

Port Address Translation (PAT) / पख़ट塪� एड塪� ॕऺ ट塪� ॊॠऺलॕषन (पॖट)

Correct Answer :­Port Address Translation (PAT) / पख़ट塪� एड塪� ॕऺ ट塪� ॊॠऺलॕषन (पॖट) 

21)

Question Stimulus :­

IŶ MS‐EǆĐel ϮϬϬϳ, ǁhiĐh of the folloǁiŶg is Ŷot a ǁaǇ to Đoŵplete a Đell eŶtƌǇ? / MS‐EǆĐel ϮϬϬϳ मꬅ, ोनៃ� न मꬅ ऺॕ कग़न,
ऺॕल एⰂ ट塪� ॎ पॐण塪� करनॕ कॎ ोशोध नऻॎ ॠ ऻॖ ­

Pressing enter / एॠ टर दबॊनॊ

Pressing any arrow key on the keyboard / कॎ­बख़ड塪� पर arrow key दबॊनॊ

Clicking the Enter button on the Formula bar / फॗमॐ塪�लॊ बॊर कॕ एॠ टर बटन पर ៚�프क करनॊ

Pressing spacebar / 𐀆 पॕऺबॊर दबॊनॊ

Correct Answer :­Pressing spacebar / 𐀆 पॕऺबॊर दबॊनॊ 

22)

Question Stimulus :­

The uses of <mark> tag is in HTML5  ______________. / HTML5 मꬅ <mark> tag कॊ उपयख़ग ______________ कॕ ोलए
ऻख़तॊ ऻॖ ­

To displaǇ ŵoǀies iŶ the page. / पॕज मꬅ मॐशॎि ोड𐀆 〄 लॕ करनॊ

To highlight paƌts of the teǆt. / टॕ縄 𐀆 ट कॕ ोऻ𐀆 ऺ ख़ ॠ कख़ ऻॊइलॊइट करनॊ

To uŶdeƌliŶe paƌts of the teǆt. / टॕ縄 𐀆 ट कॕ ोऻ𐀆 ऺ ख़ ॠ कख़ अॠडरलॊइन करनॊ

To displaǇ gƌaphiĐs iŶ the page / पॕज मꬅ ꬅॊोफ縄 ऺ  ोड𐀆 〄 लॕ करनॊ

Correct Answer :­To highlight paƌts of the teǆt. / टॕ縄 𐀆 ट कॕ ोऻ𐀆 ऺ ख़ ॠ कख़ ऻॊइलॊइट करनॊ 

23)

Question Stimulus :­

WhiĐh of the folloǁiŶgs is tƌue ƌegaƌdiŶg the <Đap�oŶ> tag? / <Đap�oŶ>tag कॕ  ॠऺदभ塪� मꬅ ोनៃ� न मꬅ ऺॕ 縄 यॊ ऺ𐀆 य ऻॖ?

It defiŶes a Đap�oŶ foƌ taďle. / यऻ, टॕबल कॕ ोलए कॖ〄 षन प埉�रभॊोहत करतॊ ऻॖ।

It can specify only one caption per table. / यऻ, टॕबल कॕ ोलए कॕशल एक कॖ〄 षन ोनोद塪�𐀆 ट कर ऺकतॊ ऻॖ।

It must be inserted immediately after the <table>tag. / इऺॕ <table>tag कॕ ठॎक बॊद इⰂ ऺ ट塪�  ोकयॊ जॊनॊ चॊोऻए।



All of the aďoǀe / उपरख़縄 त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़縄 त ऺभॎ 

24)

Question Stimulus :­

What is the first stage in software development? / ऺॗퟨ�शॕयर डॕशलपमꬅट मꬅ पऻलॊ चरण 縄 यॊ ऻख़तॊ ऻॖ?

Maintenance / मꬅटॎनꬅऺ

Testing / टॕ៚�៭�ॠग

Specification and Design / 𐀆 पॕऺॎोफकॕषन तथॊ ोडिॊइन

System Analysis / ोऺ𐀆 टम एनॊोलोऺऺ

Correct Answer :­System Analysis / ोऺ𐀆 टम एनॊोलोऺऺ 

25)

Question Stimulus :­

What are two purposes for segmentation with a bridge?

1. To add more broadcast domains.
2. To create more collision domains.
3. To add more bandwidth for users.
4. To allow more broadcasts for users.

ोꬅज कॕ ऺॊथ ऺॕ𐀆 मꬅटॕषन कॕ 縄 यॊ दख़ उ錃ॕ𐀆 य ऻ塪�?

1. अोधक ꬅॗडकॊ𐀆 ट डख़मॕन एड करनॊ

2. अोधक कॗोलिन डख़मॕन एड करनॊ

3. यॐज 塪ऺ� (ꬅयख़縄 तॊओॠ) कॕ ोलए अोधक ब塪�डोशद्थ एड करनॊ

यॐज 塪ऺ� (ꬅयख़縄 तॊओॠ) कॕ ोलए अोधक ꬅॗडकॊ𐀆 ट 𐀆 शॎक॑त करनॊ

ϭ oŶlǇ / कॕशल 1

Ϯ aŶd ϯ / 2 और 3

Ϯ aŶd ϰ / 2 और 4

ϰ oŶlǇ / कॕशल 4

Correct Answer :­Ϯ aŶd ϯ / 2 और 3 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

If the following two squares shown below overlap, which one of the following options is formed? / योद ोन៓�
ोदखॊयॕ गयॕ दख़ शग塪� अोतퟟ�ॊोपत ऻख़ ॠगॕ, तख़ ोन៓� मꬅ ऺॕ कग़न ऺॊ ोशक� बनॕगॊ?



Correct Answer :­  

2)

Question Stimulus :­

The LCM of 3p, 6p, and 9p is: / 3p, 6p, और 9p कॊ लघॏतम ऺमॊपश៚�塪� )लघॏतम( ऻॖ:

19



19p

18

18p

Correct Answer :­18p 

3)

Question Stimulus :­

There would be a 10 % loss, if a toy is sold at Rs. 10.80 per piece. At what price should it be sold to earn a
profit of 20 %? / योद एक ៚�खलग़नॕ कख़ 10.80ꬅ ꬅोत पॎऺ पर बॕचॊ जॊयॕ तख़ 10% ऻॊोन ऻख़गॎ। 20% लॊभ पॊनॕ कॕ ोलए
उऺॕ ोकऺ कॎमत पर बॕचनॊ चॊोऻए?

Rs. 12.00 / ꬅ. 12.00

Rs. 12.96 / ꬅ. 12.96

Rs. 14.40 / ꬅ 14.40

Rs. 13.20 / ꬅ. 13.20

Correct Answer :­Rs. 14.40 / ꬅ 14.40 

4)

Question Stimulus :­

If the speed of a boat in still water is 20 m/s, and speed of the current is 10 m/s,
then what is the time taken by the boat to travel a distance of 6 km upstream? / योद
𐀆थॊयॎ जल मꬅ नॊश कॎ चॊल 20 मॎ/ऺॕ ऻॖ , और धॊरॊ कॎ चॊल 10 मॎ/ऺॕ ऻॖ , तख़ धॊरॊ कॕ ोशपरॎत 6 ोकमॎ दॐ रॎ कॎ यॊꬅॊ
करनॕ कॕ ोलए नॊश कख़ ोकतनॊ ऺमय लगॕगॊ?

5 min / 5 ोमनट

10 min / 10 ोमनट

15 min / 15 ोमनट

20 min / 20 ोमनट

Correct Answer :­10 min / 10 ोमनट 

5)

Question Stimulus :­

If 2346 is coded ALUR and 15789 is coded EGKPT, then how is 23549 coded? / योद 2346 कख़ ALUR ऺॕ कख़ोडत
ोकयॊ जॊतॊ ऻॖ और 15789 कख़ EGKPT ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ 23549 कख़ कॖऺॕ कख़ोडत ोकयॊ जॊयॕगॊ?

EPALR 

AGULT

KLUPR

ALGUT



Correct Answer :­ALGUT 

6)

Question Stimulus :­

Correct Answer :­  

7)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / नॎचॕ दॎ
गई 픅॑ॠखलॊ मꬅ अퟀ�रख़ ॠ और  ॠऺៀ�ॊओॠ कॊ ꬅम उप៚�𐀆थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ :

i. b45t6y7ui7i     ii. b45t6y7u7i      iii. b45t6y7u7i          iv. b45t6y7u7i

i

ii



iii

iv

Correct Answer :­i 

8)

Question Stimulus :­

If Ashwin finds that he is the twentieth person from the left in a line of boys and
tenth from the right, then how many boys should be added to the line such that
there are 50 boys in the line? / योद अो韷�न कख़ ៱�ॊत ऻख़तॊ ऻॖ ोक शऻ लीकख़ॠ कॎ पॠ៚�韐� मꬅ बॊयꬅ ऺॕ बॎऺशॊँ
इॠऺॊन ऻॖ और दॊयꬅ ऺॕ दऺशॊँ, तख़ पॠ៚�韐� मꬅ ोकतनॕ लीकख़ॠ कख़ और जख़ीॊ जॊनॊ चॊोऻयॕ ोक पॠ៚�韐� मꬅ 50 लीकॕ ऻख़ जॊयꬅ?

20

21

22

23

Correct Answer :­21 

9)

Question Stimulus :­

Among the following options, which is the greatest in value? / ोन៓� ोशक�ख़ॠ मꬅ, ऺबऺॕ अोधक मॊन ोकऺकॊ ऻॖ?

62 %

0.618

621 / 1001

619 / 999

Correct Answer :­621 / 1001 

10)

Question Stimulus :­

A lamp post has half of its length in mud,  rd of its length in water and the remaining of 3 m above the water.

find the whole length of the post./  एक लॖퟨ� पख़៭� कॎ लះ�ॊई कॊ आधॊ ोऻퟘ�ॊ कॎची मꬅ ऻॖ, लះ�ॊई कॊ  शॊॠ ोऻퟘ�ॊ पॊनॎ

मꬅ ऻॖ और 3  मॎटर कॊ बचॊ ꬅआ ोऻퟘ�ॊ पॊनॎ ऺॕ ऊपर थॊ। लॖퟨ� पख़៭� कॎ पॐरॎ लះ�ॊई ៱�ॊत कॎोजए।

40

30

20
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Correct Answer :­20 

11)

Question Stimulus :­

If 'Cal flar blum' means 'flowers smell sweet', 'Bran Cal nift' means 'bouquet of flowers', the meaning of which
code can be inferred with certainty? / योद 'Cal flar blum' कॊ मतलब ऻॖ 'flowers smell sweet', 'Bran Cal nift' कॊ
मतलब ऻॖ 'bouquet of flowers', तख़ ोकऺ कख़ड कॊ अथ塪� ोनोퟑ�त ꬅप ऺॕ ៱�ॊत ोकयॊ जॊ ऺकतॊ ऻॖ?

Bran

Flar

Blum

Cal

Correct Answer :­Cal 

12)

Question Stimulus :­

Complete the series choosing the missing number: / लॏퟷ�  ॠऺៀ�ॊ चॏनकर 픅॑ॠखलॊ कख़ पॐरॊ कॎोजए: 

1, 5, 17, 53, ______

165

161

159

147

Correct Answer :­161 

13)

Question Stimulus :­

Which of the following can be formed from all the alphabets of the word 'Supply chain'? / 'Supply chain' ष埀�
कॕ ऺभॎ अퟀ�रख़ ॠ ऺॕ ोन៓� मꬅ ऺॕ कग़न ऺॊ षៃ� द बन ऺकतॊ ऻॖ?

China Supply

Lynch Pulse

Play Inch Up

Alps In China

Correct Answer :­China Supply 

14)

Question Stimulus :­



How many three digit numbers are divisible by 5? / तॎन अॠक कॎ ोकतनॎ  ॠऺៀ�ॊयꬅ 5 ऺॕ ोशभॊퟀ� ऻ塪�?

10

100

175

180

Correct Answer :­180 

15)

Question Stimulus :­

Complete the series choosing the missing letters: / लॏퟷ� अퟀ�र चॏनकर 픅॑ॠखलॊ कख़ पॐरॊ कॎोजए: 

AEC, BFD, CGE, DHF, ______

FHG  

RGH

EIG

EGI

Correct Answer :­EIG 

16)

Question Stimulus :­

Three different containers contain 130 l, 442 l and 234 l of milk respectively. What biggest measure can be
used to measure all the containers exactly? / तॎन अलग पॊꬅख़ ॠ मꬅ ꬅमष: 130 लॎटर, 442 लॎटर और 234 लॎटर दॐ ध ऻॖ।
ऺभॎ पॊꬅख़ ॠ कख़ ऺऻॎ ऺॕ मॊपनॕ कॕ ोलए कग़न ऺॕ ऺबऺॕ बीॕ मॊप कॊ ꬅयख़ग ोकयॊ जॊ ऺकतॊ ऻॖ?

26 l 

17 l

13 l

11 l

Correct Answer :­26 l  

17)

Question Stimulus :­

A stenographer typed 16,200 words on a given day. If she had typed for exactly 6 hours during the day, then
what will be her average speed of typing? / एक ៭ॕ�नख़ꬅॊफर नॕ एक ोदयॕ गयॕ ोदन मꬅ 16,200 ष埀�ख़ॠ कख़ टॊइप ोकयॊ।
योद उऺनॕ ोदन कॕ दग़रॊन ठॎक 6 घ㤆ॕ टॊइप ोकयॊ, तख़ टॊइोपॠग कॎ औऺत चॊल ोकतनॎ ऻख़गॎ?

30 words per minute / 30 ष埀� ꬅोत ोमनट

40 words per minute / 40 ष埀� ꬅोत ोमनट



45 words per minute / 45 ष埀� ꬅोत ोमनट

60 words per minute / 60 ष埀� ꬅोत ोमनट

Correct Answer :­45 words per minute / 45 ष埀� ꬅोत ोमनट 

18)

Question Stimulus :­

A dairy farmer's can contains 6 litres of milk. His wife adds some water to it such that milk and water are in
the ratio 4 : 1. How many litres of milk should the farmer add so that the milk and water are in the ratio 5 : 1?
/ एक डॕरॎ ोकऺॊन कॕ ोड៻ॕ� मꬅ 6 लॎटर दॐ ध रऻतॊ ऻॖ। उऺकॎ प埕�ॎ, उऺमꬅ कॏ छ पॊनॎ इऺ ꬅकॊर ऺॕ ोमलॊतॎ ऻॖ ोक दॐ ध और
पॊनॎ 4 : 1 कॕ अनॏपॊत मꬅ ऻख़ जॊतॊ ऻॖ। ोकऺॊन कख़ उऺमꬅ ोकतनॕ लॎटर दॐ ध ोमलॊनॊ चॊोऻए ोक दॐ ध और पॊनॎ 5 : 1 कॕ
अनॏपॊत मꬅ ऻख़ जॊयॕ?

1.5

1.2

1.0

1.8

Correct Answer :­1.5 

19)

Question Stimulus :­

(95/5) × 2 ­ (16/2) × 5 ­ (17 × 2) + (80/4) = ?

4

8

12

­16

Correct Answer :­­16 

20)

Question Stimulus :­

Find the odd one out: / ोशहम ៱�ॊत कॎोजए:

Water / जल

Paint / पॕퟁ�

Ink / 韷�ॊऻॎ

Brush / ꬅष

Correct Answer :­Brush / ꬅष 

21)



Question Stimulus :­

The series given below contains a sequence of numbers. Identify the INCORRECT
combination: / नॎचॕ दॎ गई 픅॑ॠखलॊ मꬅ ꬅम मꬅ  ॠऺៀ�ॊयꬅ उप៚�𐀆थत ऻ塪�। गलत  ॠऺयख़जन पऻचॊोनयॕ:

3, 7, 15, 30, 63

7

15

63

30

Correct Answer :­30 

22)

Question Stimulus :­

(828/4) × 3 ­ (8 × (6/24) × 10) + (105/35) ­ 15 = ?

589

569

579

549

Correct Answer :­589 

23)

Question Stimulus :­

Today, the age of a father is thrice the age of his son. After 5 years, the age of father will be 2.5 times the age
of his son. The age of son today is: / शत塪�मॊन मꬅ, ोपतॊ कॎ आयॏ उऺकॕ बॕटॕ कॎ आयॏ कॎ ोतगॏनॎ ऻॖ। 5 शहꬅ कॕ बॊद, ोपतॊ
कॎ आयॏ उऺकॕ बॕटॕ कॎ आयॏ कॎ 2.5 गॏनॊ ऻख़गॎ। शत塪�मॊन मꬅ, बॕटॕ कॎ आयॏ ऻॖ:

20 years / 20 शह塪� 

15 years / 15 शह塪�

18 years / 18 शह塪�

22 years / 22 शह塪�

Correct Answer :­15 years / 15 शह塪� 

24)

Question Stimulus :­

Gullu walked 18 meters to the south, and then walked 25 meters to the west, then 28 meters to the east. Which
direction is he facing now? / गॏꨂॏ 18 मॎटर दोퟀ�ण कॎ ओर चलॊ, और ोफर पोퟑ�म कॎ ओर 25 मॎटर चलॊ, ोफर पॐश塪�
कॎ ओर 28 मॎटर चलॊ। इऺ ऺमय उऺकॊ मॏख ोकऺ ोदषॊ कॎ ओर ऻॖ?



East / पॐश塪�

West / पोퟑ�म

North / उퟎ�र

South / दोퟀ�ण

Correct Answer :­East / पॐश塪� 

25)

Question Stimulus :­

If NAKED is coded 84123 and MISTAKE is coded 9765412, then how is INTIMATE coded? / योद NAKED कख़
84123 ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ और MISTAKE कख़ 9765412 ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ INTIMATE कख़ कॖऺॕ
कख़ोडत ोकयॊ जॊयॕगॊ?

77432165  

67688341

78579452

89687563

Correct Answer :­78579452 

Topic:­ General Management
1)

Question Stimulus :­

Which of the following skills is the most essential for a manager to bring out the best
from the people under him? / एक ꬅबॠधक कॕ ोलए ोन៓� ोल៚�खत मꬅ ऺॕ कग़न ऺॊ कग़षल ऺबऺॕ मऻ埍�पॐण塪� ऻख़तॊ ऻॖ
जख़ लख़गख़ ॠ कख़ उऺकॕ नॕत॑埍� मꬅ बॕऻतरॎन ꬅदष塪�न करनॕ मꬅ ऺऻॊयक ऻख़तॊ ऻॖ?

Human skill / मॊनश कग़षल

Technical skill / तकनॎकॎ कग़षल

Mechanical skill / यॊॠोꬅक कग़षल

Conceptual skill / शॖचॊ埉�रक कग़षल

Correct Answer :­Human skill / मॊनश कग़षल 

2)

Question Stimulus :­

What skills enable a manager to motivate employees? / एक ꬅबॠधक मꬅ मग़जॐद कग़न ऺॊ कग़षल,
कम塪�चॊ埉�रयख़ ॠ कख़ ꬅॕ埉�रत करनॕ कॕ ोलए ऺퟀ�म ऻॖ ?

Technical / तकनॎकॎ

Marketing /  ोशपणन



Interpersonal / अॠतशꬅय៚�縄 तक

Sales / ोशꬅय 

Correct Answer :­Interpersonal / अॠतशꬅय៚�縄 तक 

3)

Question Stimulus :­

Which of the following do not fall under the category of systematic risk? ोन៓� मꬅ ऺॕ कग़न,  ꬅमब埀� जख़៚�खम कॎ
픅ॕणॎ मꬅ नऻॎ ॠ आतॊ ऻॖ?

Market Risk / बॊिॊर कॊ जख़៚�खम

Interest Rate risk. / 韀�ॊज दर जख़៚�खम

Purchasing power risk / ꬅय ष៚�韐� जख़៚�खम

Financial risk / ोशퟎ�ॎय जख़៚�खम

Correct Answer :­Financial risk / ोशퟎ�ॎय जख़៚�खम 

4)

Question Stimulus :­

Which of the following would be considered as 'Use of funds'? / ोनៃ� नोल៚�खत मꬅ ऺॕ ोकऺॕ 'धन कॊ
उपयख़ग' कॕ ꬅप मꬅ मॊनॊ जॊ ऺकतॊ ऻॖ?

a decrease in accounts receivable / लॕनदॊरॎ लॕखॕ मꬅ कमॎ

a decrease in cash / नकदॎ मꬅ कमॎ

an increase in account payable / दॕनदॊरॎ लॕखॕ मꬅ श॑៚�埀�

an increase in cash. / नकदॎ मꬅ श॑៚�埀�

Correct Answer :­an increase in cash. / नकदॎ मꬅ श॑៚�埀� 

5)

Question Stimulus :­

Which of the following acts as a link between the top management and the employees? /
ोन៓� मꬅ ऺॕ कग़न, षॎह塪� ꬅबॠधन और कम塪�चॊ埉�रयख़ ॠ कॕ बॎच 픅॑ॠखलॊ कॕ ꬅप मꬅ कॊय塪� करतॎ ऻॖ?

Human Resource Management / मॊनश  ॠऺऺॊधन ꬅबॠधन

Human Resource Executives / मॊनश  ॠऺऺॊधन अोधषॊऺॎ

Human Resource Planning / मॊनश  ॠऺऺॊधन ोनयख़जन

Human Resource Information System / मॊनश  ॠऺऺॊधन  ॐऺचनॊ ꬅणॊलॎ

Correct Answer :­Human Resource Management / मॊनश  ॠऺऺॊधन ꬅबॠधन 

6)



Question Stimulus :­

Which of the following methods of departmentation facilitates tight control on top? / ोन៓�
मꬅ ोशभॊगॎयतॊ कॎ कग़न ऺॎ ोशोध, षॎह塪� पर कीॕ ोनयॠꬅण कॎ  ॏऺ ोशधॊ ꬅदॊन करतॎ ऻ塪�?

By geography / भॐगख़ल 埉�ॊरॊ

By customer group / ꬅॊऻक ऺमॐऻ 埉�ॊरॊ

By enterprise function / उ埉�म ꬅकॊय塪� 埉�ॊरॊ 

By product / उ埱�ॊद 埉�ॊरॊ

Correct Answer :­By enterprise function / उ埉�म ꬅकॊय塪� 埉�ॊरॊ  

7)

Question Stimulus :­

Which of the following is an intangible source? / ोन៓� मꬅ ऺॕ कग़न ऺॊ एक अमॐत塪� �ख़त ऻॖ?

Technology / ꬅग़埉�ख़ोगकॎ

Machinery / मषॎनरॎ

Raw materials / क韣�ॊ मॊल

Capital / पॐँजॎ  

Correct Answer :­Technology / ꬅग़埉�ख़ोगकॎ 

8)

Question Stimulus :­

_____________ refers to the extent to which people are committed to work and involved in their activities. / शऻ
ऺॎमॊ, ोजऺमꬅ ퟟ�៚�韐� कॊय塪� करनॕ ऻॕतॐ ꬅोतब埀� ऻ塪� और अपनॎ कॊय塪� गोतोशोधयख़ ॠ मꬅ अॠत:ꬅំ� ऻ塪�, उऺॕ _____________  ॠऺदोभ塪�त
करतॎ  ऻॖ।

Unethical / अनॖोतकतॊ

Work ethics / कॊय塪� नॖोतकतॊ

Job description / कॊय塪� ोशशरण

All the above / उपरख़韐� ऺभॎ

Correct Answer :­Work ethics / कॊय塪� नॖोतकतॊ 

9)

Question Stimulus :­

Public limited companies include / प៚�埧�क ोलोमटॕड कॠ पोनयख़ ॠ मꬅ ऺ៚�韘�ोलत ऻख़तॎ ऻ塪� /

Listed companies /  ॐऺचॎगत कퟨ�ोनयॊँ

Non­listed companies / ाॖर  ॐऺचॎगत कॠ पोनयॊँ



Both listed and non listed company /  ॐऺचॎब埀� एशॠ ाॖर  ॐऺचॎब埀� कॠ पोनयॊँ दख़नख़ ॠ

Government non listed companies / ाॖर  ॐऺचॎब埀� ऺरकॊरॎ कॠ पोनयॊँ

Correct Answer :­Listed companies /  ॐऺचॎगत कퟨ�ोनयॊँ 

10)

Question Stimulus :­

Profit and loss appropriation account is prepared / लॊभ एशॠ ऻॊोन ोशोनयख़जन लॕखॊ तॖयॊर ोकयॊ जॊतॊ ऻॖ :

when entire profit is distributed to owners / जब  ॠऺपॐण塪� लॊभ, मॊोलकख़ ॠ मꬅ ोशत埉�रत ोकयॊ जॊतॊ ऻॖ।

when there is no profit in the business / जब ퟟ�ॊपॊर मꬅ कख़ई लॊभ नऻॎ ॠ ऻख़तॊ ऻॖ।

when portion of the profits is retained / जब लॊभ कॊ अॠष,  धॊ埉�रत ऻख़तॊ ऻॖ।

when merger and acquisition takes place / जब ोशलयन एशॠ अोधꬅऻण 𐀆थॊन लॕतॊ ऻॖ।

Correct Answer :­when portion of the profits is retained / जब लॊभ कॊ अॠष,  धॊ埉�रत ऻख़तॊ ऻॖ। 

11)

Question Stimulus :­

Employees at the bottom of the hierarchy of an organization are, generally assigned
_____________ / एक  ॠऺगठन कॕ पदॊनॏꬅम कॕ ऺबऺॕ नॎचॕ कम塪�चॊ埉�रयख़ ॠ कख़, ऺॊमॊퟸ�त: ____________ ऺग़ ॠपॕ जॊतॕ
ऻ塪� ­

Repetitive and routine tasks / पॏनरॊशतꬅ कॊय塪� और नॕमॎ कॊय塪�

Tasks that call for innovative thinking / कॊय塪� जख़ प埉�रशत塪�नॊ𐀆 मक ऺख़च कख़ बुॊशॊ दॕतॕ ऻख़ ॠ।

Tasks that involve research  / कॊय塪� ोजनमꬅ अनॏ ॠऺधॊन षॊोमल ऻख़। 

Exceptionally difficult tasks / अऺॊधॊरण तग़र पर मॏ៚�韅�ल कॊय塪�

Correct Answer :­Repetitive and routine tasks / पॏनरॊशतꬅ कॊय塪� और नॕमॎ कॊय塪� 

12)

Question Stimulus :­

Every year depreciation is charged on__________. / ꬅ៚ॕ�क शह塪� मॐ힀� ��ॊऺ __________ पर लगॊयॊ जॊतॊ ऻॖ।

Equity / इ៚�ퟵ�टॎ

Liabilities /  दॕनदॊ埉�रयख़ ॠ

Fixed assets / 𐀆थॊयॎ प埉�र ॠऺपोퟎ�यख़ ॠ

Current assets / शत塪�मॊन प埉�र ॠऺपोퟎ�यख़ ॠ

Correct Answer :­Fixed assets / 𐀆थॊयॎ प埉�र ॠऺपोퟎ�यख़ ॠ 

13)



Question Stimulus :­

The practice of the seller engaging in mass production, mass distribution, and mass promotion of one product for
all buyers has come to be known as/   ऺभॎ खरॎददॊरख़ ॠ कॕ ोलए, एक उ埱�ॊद कॕ ब॑ऻत् उ埱�ॊदन, ퟟ�ॊपक ोशतरण, और ퟟ�ॊपक
ꬅख़韯�ॊऻन मꬅ  ॠऺलះ� ोशꬅॕतॊ कॕ प埀�ोत कख़ कऻॊ जॊतॊ ऻॖ ­

Mass Marketing / ब॑ऻत् ोशपणन

Mass Targeting/  ퟟ�ॊपक ल埣�ॎकरण

Mass Segmenting / ퟟ�ॊपक ोशभॊजन

Mass Positioning / जन ៚�𐀆थोत ोनधॊ塪�रण

Correct Answer :­Mass Marketing / ब॑ऻत् ोशपणन 

14)

Question Stimulus :­

In capital budgeting which of the following is used as a capital form? / पॐँजॎ आयퟟ�य मꬅ, इनमꬅ
ऺॕ कग़न पॐँजॎ कॕ ꬅप मꬅ ꬅयॏ韐� ऻख़तॊ ऻॖ?

Houses owned by individual / ퟟ�៚�韐� कॕ 埉�ॊोम埍� शॊलॕ मकॊन

Money owned by customer / ꬅॊऻक कॕ 埉�ॊोम埍� शॊलॊ धन

Money  as capital form / पॐँजॎ अश𐀆थॊ कॕ ꬅप मꬅ धन

Assets owned by employee / कम塪�चॊ埉�रयख़ ॠ कॕ 埉�ॊोम埍� शॊलॎ प埉�र ॠऺपोퟎ�

Correct Answer :­Money  as capital form / पॐँजॎ अश𐀆थॊ कॕ ꬅप मꬅ धन 

15)

Question Stimulus :­

___________ identifies the order of activities to be performed in order to achieve a particular goal. / ोकऺॎ ोशषॕह
ल埣� कख़ ꬅॊퟷ� करनॕ कॕ ोलए ꬅदोष塪�त कॎ जॊनॕ शॊलॎ गोतोशोधयख़ ॠ कॕ ꬅम कख़, __________ अोभोनधॊ塪�埉�रत करतॊ
 ऻॖ।

Break­even analysis /   ॠऺतॏलन ំ�र ोश퟇ॕ�हण

Scheduling / अनॏ ॐऺचन

Linear programming / रॖ៚�खक ꬅमॊदॕषन

Budgeting / बजटन

Correct Answer :­Scheduling / अनॏ ॐऺचन 

16)

Question Stimulus :­

 A good, service, or idea that offers a bundle of tangible and intangible attributes to satisfy the customer is known
as /  मॊल, ऺॕशॊ यॊ ोशचॊर जख़ ोक ꬅॊऻकख़ ॠ कख़  ॠऺतॏ𐀆 ट करनॕ कॕ ोलए बꬅत ऺॊरॕ मॐत塪� और अमॐत塪� गॏणख़ ॠ कख़ ꬅदॊन करतॊ ऻॖ, इऺॕ
________ कॕ नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ।



Product/  उ埱�ॊद

Price/  मॐ힀�

Promotion/  ꬅख़埳�ोत

Physical Distribution/  भग़ोतक ोशतरण

Correct Answer :­Product/  उ埱�ॊद 

17)

Question Stimulus :­

___________  is a set of accounts. / _______ , खॊतख़ ॠ कॊ एक ऺॕट ऻॖ।   

Ledger / खॊतॊ­बऻॎ

Journal / जरनल

Posting / ꬅोश៚�𐀆 ट (पख़៚�៭�ॠग)

None of the above / इनमꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ledger / खॊतॊ­बऻॎ 

18)

Question Stimulus :­

We can say business is in profit when / ऻम कऻ ऺकतॕ ऻ塪� ोक ퟟ�शऺॊय मꬅ लॊभ ऻख़तॊ ऻॖ, जब:

Assets exceed liabilities / प埉�र ॠऺपोퟎ�, दॕनदॊ埉�रयख़ ॠ ऺॕ अोधक ऻख़

Income exceeds expenses / आय, ퟟ�य ऺॕ अोधक ऻख़

Income exceeds liabilities / आय, दॕनदॊ埉�रयख़ ॠ ऺॕ अोधक ऻख़

Assets exceed expenditure / प埉�र ॠऺपोퟎ�, ퟟ�य ऺॕ अोधक ऻख़

Correct Answer :­Income exceeds expenses / आय, ퟟ�य ऺॕ अोधक ऻख़ 

19)

Question Stimulus :­

Select which of these are the sources of attitudes? / चयन करꬅ  ोक इनमꬅ ऺॕ कग़न अोभश॑ोퟎ� कॕ ៩�ख़त ऻ塪�?

1. Family members  / प埉�रशॊर कॕ ऺद韷�

2. Reference group /  ॠऺदभ塪� ऺमॐऻ

3. Peer group influence / ऺॊोथयख़ ॠ कॕ ऺमॐऻ कॊ ꬅभॊश

4. Socialisation and learning process / ऺमॊजॎकरण और ऺॎखनॕ कॎ ꬅोꬅयॊ

ϭ,ϯ,ϰ oŶlǇ / ोऺफ塪�  1,3,4



ϭ,Ϯ oŶlǇ / ोऺफ塪�  1, 2

ϯ,Ϯ oŶlǇ / ोऺफ塪�  3, 2

ϭ,Ϯ,ϯ,ϰ / ϭ,Ϯ,ϯ,ϰ

Correct Answer :­ϭ,Ϯ,ϯ,ϰ / ϭ,Ϯ,ϯ,ϰ 

20)

Question Stimulus :­

Which of the following does the abbreviation CSR stand for? / ोन៓� मꬅ ऺॕ कग़न ऺॊ  ॠऺोퟀ�ퟷ� नॊम CSR कख़ दषॊ塪�तॊ
ऻॖ ­  

Corporate Social Responsibility / नॖगोमक ऺॊमॊोजक उퟎ�रदॊोय埍�

Company Service Rules / कॠ पनॎ ऺोश塪�ऺ ोनयम

Continuous Surveillance Report / ोनरॠतर ोनगरॊनॎ 埉�रपख़ट塪�

Cumulative Supervisory Role /  ॠऺचयॎ पय塪�शॕퟀ�ण भॐोमकॊ

Correct Answer :­Corporate Social Responsibility / नॖगोमक ऺॊमॊोजक उퟎ�रदॊोय埍� 

21)

Question Stimulus :­

In which of these multiple­person evaluation methods is the evaluator asked to rate
employees from highest to lowest on some overall criterion? / इनमꬅ ऺॕ ोकऺ बꬅ­ ퟟ�៚�韐� मॐ힀�ॊॠकन
ोशोधयख़ ॠ मꬅ, मॐ힀�ॊॠकनकतॊ塪� कख़ कॏ छ ऺमꬅ कऺग़टॎ पर उ韣�तम ऺॕ ऺबऺॕ कम तक मꬅ कम塪�चॊ埉�रयख़ ॠ कख़ मॐ힀�ॊॠकन करनॕ कॕ
ोलए कऻॊ जॊतॊ ऻॖ?

Paired comparison / यॏगोलत तॏलनॊ

Ranking method / 픅ॕणॎकरण ꬅणॊलॎ

Forced choice / शॊोधत शरण

Forced distribution / शॊोधत  ोशतरण

Correct Answer :­Ranking method / 픅ॕणॎकरण ꬅणॊलॎ 

22)

Question Stimulus :­

What is it called when the management functions are placed into its logical sequence? /
जब ꬅबॠधन कॕ ꬅकॊय塪�, उनकॕ तॊोक塪� क अनॏꬅम मꬅ रखॕ जॊतॕ ऻ塪� तब इऺॕ 埀�ॊ कऻॊ जॊतॊ ऻॖ?

Management System / ꬅबॠधन ꬅणॊलॎ

Management Principle / ꬅबॠधन ोऺ埀�ॊॠत

Management Process / ꬅबॠधन ꬅोꬅयॊ



Management Thought / ꬅबॠधन ोशचॊर

Correct Answer :­Management Process / ꬅबॠधन ꬅोꬅयॊ 

23)

Question Stimulus :­

BRS (Bank reconciliation) is prepared to / _________ कॕ ोलए, BRS (ब塪�क ऺमॊधॊन) तॖयॊर ोकयॊ जॊतॊ ऻॖ।

Identify the difference in the balance as per cash book and balance as per bank
statement / ब塪�क ोशशरण कॕ अनॏऺॊर बॖलꬅऺ और रख़की बऻॎ कॕ अनॏऺॊर बॖलꬅऺ मꬅ अॠतर कख़ पऻचॊननॕ

Correct mistakes in the cash book / रख़की बऻॎ मꬅ गलोतयख़ ॠ कख़ ऺऻॎ करनॕ

Correct mistakes in the bank statement / ब塪�क ोशशरण मꬅ गलोतयख़ ॠ कख़ ऺऻॎ करनॕ  

None of the above / उपरख़韐� मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Identify the difference in the balance as per cash book and balance as
per bank statement / ब塪�क ोशशरण कॕ अनॏऺॊर बॖलꬅऺ और रख़की बऻॎ कॕ अनॏऺॊर बॖलꬅऺ मꬅ अॠतर कख़ पऻचॊननॕ 

24)

Question Stimulus :­

In which of these types of simulation techniques is the dimension of the job programmed into a computer? / इनमꬅ
ऺॕ अनॏकॊर तकनॎक कॕ कग़न ऺॕ ꬅकॊरख़ ॠ मꬅ ऺॕ एक ꬅकॊर मꬅ  कៃ� 〄 यॐटर मꬅ कॊय塪� कॊ आयॊम, ꬅख़ꬅॊम ोकयॊ
जॊतॊ ऻॖ?

Experimental exercise / ꬅॊयख़ोगक अퟝ�ॊऺ

Computer modelling / कॠ ퟛ�ॐटर मॗडोलॠग

Vestibule training / शॕ៚�៭�韀�ॐल ꬅोषퟀ�ण

Case exercise / ोशहय अퟝ�ॊऺ

Correct Answer :­Computer modelling / कॠ ퟛ�ॐटर मॗडोलॠग 

25)

Question Stimulus :­

A manager sets goals through a collaborative process. The extent to which goals are
accomplished is an important parameter in evaluating and rewarding the subordinate’s
performance. By which of the following terms is this described? / एक ꬅबॠधक, ऺऻयख़गॊ埱�क
ꬅोꬅयॊ कॕ मॊퟛ�म ऺॕ ल埣�ख़ॠ कख़ ोनधॊ塪�埉�रत करतॊ ऻॖ। अधॎन𐀆थ कम塪�चॊरॎ कॊ ोनퟪ�ॊदन ोकऺ ऻद तक ल埣�ख़ॠ कख़ पॐरॊ कर
रऻॊ ऻॖ, यॕ मॐ힀�ॊॠकन और ोनퟪ�ॊदन कख़ पॏरퟍ॑�त करनॕ मꬅ एक मऻ埍�पॐण塪� पॖरॊमॎटर ऻॖ। ोन៓�ोल៚�खत मꬅ ऺॕ ोकऺ ोनयम ऺॕ यॕ
बॊत ퟑ�ퟷ� ऻख़तॎ ऻॖ।

Management by resources /  ॠऺऺॊधनख़ ॠ 埉�ॊरॊ ꬅबॠधन

Management by authority / ꬅॊोधकरण 埉�ॊरॊ ꬅबॠधन

Management by system / ꬅणॊलॎ आधॊ埉�रत ꬅबॠधन



Management by objectives / उ錃ॕ𐀆 य आधॊ埉�रत ꬅबॠधन

Correct Answer :­Management by objectives / उ錃ॕ𐀆 य आधॊ埉�रत ꬅबॠधन 


